ABERDEEN SD 5(ABERDE

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Coo Toluo		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	200	67
Brood Origin:	HATCHERY	Received	250	50
Integrated/Segregated:		Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Sta	ge
Received	08/2025	08/2025	LK ABEI	RDEEN HATCHE	RY	250	5.0	50	JUVEN	ILE
Shipped	05/2026	05/2026	LK ABEI	RDEEN HATCHE	RY	200	3.0	67	JUVEN	ILE
Estimated Release		lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged

ABERDEEN SD 5(ABERDE

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	200	67
Brood Origin:	HATCHERY	Received	250	50
Integrated/Segregated:		Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Sta	ge
Received	08/2026	08/2026	LK AB	ERDEEN HATCHI	ERY	250	5.0	50	JUVEN	ILE
Shipped	05/2027	05/2027	LK AB	ERDEEN HATCHI	ERY	200	3.0	67	JUVEN	ILE
Estimated Release		lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре	Tagged

ARLINGTON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: Species: Run: Stock: Brood Origin:	2023 Rainbow NA SPRING HATCHE	CR-GOLDENDA	LE	s	Egg Take Shipping Received	Total # 11,000	Total Pounds 7,333
Integrated/Segregate Estimated Brood I Egg Take Goal	d:				Planted		
Estimated Transfe		5 15 .	- 10.				
Shipped or Received Shipped	Start Date 08/2025	End Date 08/2025	Facility WHITEHORSE POND	Number 11,000	FPP	Total Pounds 7,333	Life Stage

Estimated Release Data

		_						_
Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

ARLINGTON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Fee Take	. o tal li	
Run:	ΝΑ	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	127,050	10,238
Brood Origin:	HATCHERY	Received	40,000	6,667
Integrated/Segregated:		Planted	172,000	60,700

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	07/2025	07/2025	BAKER LK HATCHERY	2,000	40.0	50	JUVENILE
Shipped	07/2025	07/2025	WHITEHORSE POND	114,000	40.0	2,850	JUVENILE
Shipped	09/2025	09/2025	ARLINGTON HS(ARLINGT	50	10.0	5	JUVENILE
Received	01/2026	01/2026	PUYALLUP HATCHERY	40,000	6.0	6,667	JUVENILE
Shipped	08/2026	08/2026	WHITEHORSE POND	11,000	1.5	7,333	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	10/2025	27,000	10.0	2,700	JUVENILE	SNOHOMISH CO LAKES		
04/2026	06/2026	20,000	2.5	8,000	JUVENILE	ISLAND CO LAKES		
04/2026	06/2026	65,000	2.5	26,000	JUVENILE	KING CO LAKES		
04/2026	06/2026	60,000	2.5	24,000	JUVENILE	SNOHOMISH CO LAKES		

ARLINGTON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fac Taka		
Run:	NA	Egg Take		
Stock:	TROUT LODGE	Shipping		
Brood Origin:	HATCHERY	Received	2,000	2
Integrated/Segregated:		Planted	1,500	2

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2026	06/2026	TOKUL CR HATCHERY	2,000	1,000.0	2	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
08/2026	10/2026	1,500	700.0	2	JUVENILE	REG 4 LAKES		

Memo: Program implementation is dependent on legal authority and funding. Region 4 Alpine Lakes.

ARLINGTON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	CALIF-MT WHITNEY	Shipping		
Brood Origin:	HATCHERY	Received	12,000	0
Integrated/Segregat	ed:	Planted	10,000	20
Estimated Durand				

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2026	02/2026	EELLS SPRINGS	12,000		0	EGGS GREEN

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
07/2026	10/2026	10,000	500.0	20	JUVENILE	REG 4 LAKES		

Memo: Program implementation is dependent on legal authority and funding. Planted into multi-county Alpine Lakes.

ARLINGTON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fee Tele		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	117,000	9,983
Brood Origin:	HATCHERY	Received	400,000	3,333
Integrated/Segregated:		Planted	192,500	57,600

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	GOLDENDALE HATCHERY	380,000		0	EGGS EYED
Shipped	07/2026	07/2026	BAKER LK HATCHERY	2,000	40.0	50	JUVENILE
Shipped	07/2026	07/2026	WHITEHORSE POND	104,000	40.0	2,600	JUVENILE
Received	11/2026	01/2027	PUYALLUP HATCHERY	20,000	6.0	3,333	JUVENILE
Shipped	08/2027	08/2027	ARLINGTON HATCHERY	11,000	1.5	7,333	JUVENILE

ARLINGTON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fee Tele		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	117,000	9,983
Brood Origin:	HATCHERY	Received	400,000	3,333
Integrated/Segregated:		Planted	192,500	57,600

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	55,000	100.0	550	JUVENILE	SNOHOMISH CO LAKES		
10/2026	10/2026	27,000	15.0	1,800	JUVENILE	SNOHOMISH CO LAKES		
04/2027	06/2027	18,000	2.0	9,000	JUVENILE	ISLAND CO LAKES		
04/2027	06/2027	38,500	2.0	19,250	JUVENILE	KING CO LAKES		
04/2027	06/2027	54,000	2.0	27,000	JUVENILE	SNOHOMISH CO LAKES		

ARLINGTON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2026		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	TROUT LODGE	Shipping		
Brood Origin:	HATCHERY	Received	2,000	2
Integrated/Segregate	ed:	Planted		
Estimated Brood	<u>Data</u>			

Egg Take Goal

Estimated Transfer Data

Shipped or R	eceived S	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage	
Received	(06/2027	06/2027	TOKUL (CR HATCHERY		2,000	1,000.0	2	JUVENIL	ĿE
Estimated	Release [Data									
Lotinated	<u>Mercuse</u>	Data									
Start Date	End Date	Num Rel	ease F	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре	Tagged
Start Date	End Date	Num Kei	ease r	FPP	Total Pounds	Life Stage	Release Sile		IVIALK	уре	Taggeo

Memo: Program implementation is dependent on legal authority and funding. Region 4 Alpine Lakes.

ASOTIN CONSERVATION DIST

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	1,800	0
Integrated/Segregated:		Planted	1,600	4

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	01/2026	TUCANNON HATCHERY	1,800		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	575	400.0	1	JUVENILE	ASOTIN CO LAKES		
04/2026	04/2026	1,025	400.0	3	JUVENILE	GOLF COURSE PD (ASOT)		

BAKER LK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			Total Total of
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	1,400	700
Brood Origin:	HATCHERY	Received	2,000	50
Integrated/Segregated:	SEGREGATED	Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	,		Number	FPP	Total Pounds	Life Sta	ge
Received	07/2025	07/2025	ARLIN	GTON HATCHER	Y	2,000	40.0	50	JUVEN	ILE
Shipped	05/2026	05/2026	UPPEF	R SKAGIT HATCH	ERY	1,200	2.0	600	JUVEN	ILE
Shipped	08/2026	08/2026	PUGE	Γ SOUND ESD(SEA	AT	200	2.0	100	JUVEN	ILE
Estimated Release Data										
Start Date End Dat	e Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged

Memo: Program implementation is dependent on legal authority and funding. Planted into Baker Lakes by Puget Sound Energy. Transfer 200 for Derby.

BAKER LK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	c = 1		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	1,400	700
Brood Origin:	HATCHERY	Received	2,000	50
Integrated/Segregated:	SEGREGATED	Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility		Number	FPP	Total Pounds	Life Stage	
Received	07/2026	07/2026	ARLINGTON HATCHER	Y	2,000	40.0	50	JUVENILE	
Shipped	05/2027	05/2027	UPPER SKAGIT HATCH	ERY	1,200	2.0	600	JUVENILE	
Shipped	08/2027	08/2027	PUGET SOUND ESD(SEA	AT	200	2.0	100	JUVENILE	
Estimated Release Data									
Start Date End Dat	e Num Re	lease	FPP Total Pounds	Life Stage	Release Site		Mark	Гуре Tagged	

Memo: Program implementation is dependent on legal authority and funding. Planted into Baker Lakes by Puget Sound Energy. Transfer 200 for Derby.

BELLINGHAM HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: Species:	2024 Rainbow			Total #	Total Pounds
Run:	NA	Egg			
Stock:	SPRING CR-GOLDENDALE	Ship	ping		
Brood Origin:	HATCHERY	Rece	ived		
Integrated/Segregat	ted:	Plan	ted	39,000	19,500
Estimated Brood	Data				
Egg Take Goal					
Estimated Trans	fer Data				
Shipped or Received	Start Date End Date Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2026	04/2026	6,000	2.0	3,000	JUVENILE	CASCADE LK (SAN)		
03/2026	04/2026	6,500	2.0	3,250	JUVENILE	SKAGIT CO LAKES		
03/2026	04/2026	26,500	2.0	13,250	JUVENILE	WHATCOM CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Fish released at 1.5 - 3 fpp.

BELLINGHAM HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow		-	
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	46,000	153
Integrated/Segregated:		Planted	39,000	19,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	12/2025	KENDALL CR HATCHERY	46,000	300.0	153	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2027	04/2027	6,000	2.0	3,000	JUVENILE	CASCADE LK (SAN)		
03/2027	04/2027	6,500	2.0	3,250	JUVENILE	SKAGIT CO LAKES		
03/2027	04/2027	26,500	2.0	13,250	JUVENILE	WHATCOM CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Fish released at 1.5 - 3 fpp.

BOGACHIEL HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

	—	Number	FPP	Total Pounds	Life Stage
Estimated Transfer D	ata				
Egg Take Goal					
Estimated Brood Data					
Integrated/Segregated:	SEGREGATED	F	Planted		
Brood Origin:	HATCHERY	F	Received	300	1,500
Stock:	SPRING CR-GOLDENDALE	5	Shipping		
Run:	NA	E	Egg Take		
Species:	Rainbow			Total #	Total Pounds
Brood Year:	2023				

Received SOLDUC HATCHERY 04/2026 04/2026 300 0.2 1,500 JUVENILE **Estimated Release Data** Life Stage Mark Type Tagged Start Date End Date Num Release FPP **Total Pounds Release Site**

Memo: Program implementation is dependent on legal authority and funding. Kids fishing derby. Fish planted are remainder from Derby. Leftover Derby fish planted into Wentworth Lake.

Thursday, May 8, 2025

BOGACHIEL HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	3,700	4,900
Integrated/Segregated:	SEGREGATED	Planted	1,300	1,700

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2026	04/2026	SOLDUC HATCHERY	3,400	1.0	3,400	JUVENILE
Received	04/2027	04/2027	SOLDUC HATCHERY	300	0.2	1,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	1,200	1.0	1,200	JUVENILE	WENTWORTH LK (CLAL)		
04/2027	04/2027	100	0.2	500	JUVENILE	WENTWORTH LK (CLAL)		

Memo: Program implementation is dependent on legal authority and funding. Kids fishing derby. Fish planted are remainder from Derby. Leftover Derby fish planted into Wentworth Lake.

Thursday, May 8, 2025

BOGACHIEL HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	3,700	4,900
Integrated/Segregated:	SEGREGATED	Planted	1,500	2,700

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2027	04/2027	SOLDUC HATCHERY	3,400	1.0	3,400	JUVENILE
Received	04/2028	04/2028	SOLDUC HATCHERY	300	0.2	1,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	1,200	1.0	1,200	JUVENILE	WENTWORTH LK (CLAL)		
04/2028	04/2028	300	0.2	1,500	JUVENILE	WENTWORTH LK (CLAL)		

Memo: Program implementation is dependent on legal authority and funding. Kids fishing derby. Fish planted are remainder from Derby. Leftover Derby fish planted into Wentworth Lake.

Thursday, May 8, 2025

BOWDISH JHS (SPOKANE

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fag Tako		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	100	0
Integrated/Segregated:		Planted	75	1

Estimated Brood Data

Egg	Take	e Goal
-----	------	--------

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	100		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	75	100.0	1	JUVENILE	LIBERTY LK (SPOK) (57)		

CHAMBERS CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	45,000	4,500
Integrated/Segregate	ed:	Planted	45,000	18,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2025	11/2025	PUYALLUP HATCHERY	45,000	10.0	4,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	45,000	2.5	18,000	JUVENILE	REG 6 LAKES		

CHAMBERS CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	45,000	4,500
Integrated/Segregate	ed:	Planted	45,000	18,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2026	11/2026	PUYALLUP HATCHERY	45,000	10.0	4,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	05/2027	45,000	2.5	18,000	JUVENILE	REG 6 LAKES		

CHELAN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH CENTRAL WASHINGTON

Estimated Brood			Tanteu	14,000	5,500
Integrated/Segregat	ted:		Planted	14,000	5,500
Brood Origin:	HATCHERY		Received		
Stock:	FORD STOCK		Shipping		
Species: Run:	Tiger Trout NA		Egg Take		
Brood Year:	2024 Tigor Trout			Total #	Total Pounds

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	10/2025	500	5.0	100	JUVENILE	DRY LK (CHEL)		
10/2025	10/2025	13,500	2.5	5,400	JUVENILE	OKANOGAN CO LAKES		

CHELAN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Brown Trout	Fee Take		
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	50,000	0
Integrated/Segregated:		Planted	49,500	2,025

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	FORD HATCHERY	50,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	40,000	40.0	1,000	JUVENILE	CHELAN CO LAKES		
06/2026	06/2026	5,000	40.0	125	JUVENILE	OKANOGAN CO LAKES		
10/2026	10/2026	2,000	5.0	400	JUVENILE	ANTILON LK - SOUTH (LOWER) (
10/2026	10/2026	2,500	5.0	500	JUVENILE	CHELAN CO LAKES		

CHELAN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Eastern Brook Trout	C T-l-		
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	100,000	0
Integrated/Segregated:		Planted	53,800	1,047

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	FORD HATCHERY	100,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	3,800	81.0	47	JUVENILE	CHELAN CO LAKES		
05/2026	05/2026	50,000	50.0	1,000	JUVENILE	OKANOGAN CO LAKES		

CHELAN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Egg	Take	
Run:	NA			
Stock:	CALIF-MT WHITNEY	Shij	oping	
Brood Origin:	HATCHERY	Rec	eived	
Integrated/Segregate	ed:	Pla	nted 50,000	5,000
Estimated Brood	Data			
Egg Take Goal				
Estimated Transf	er Data			
	Start Date End Date Facility	Number	FPP Total Pound	ls Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	10/2025	50,000	10.0	5,000	JUVENILE	FISH LK (CHEL)		

CHELAN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Les Tel		
Run:	NA	Egg Tal		
Stock:	SPOKANE HATCHERY	Shippir	g	
Brood Origin:	HATCHERY	Receive	ed 655,000	0
Integrated/Segregated		Planted	534,500	9,839

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	655,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	3,000	75.0	40	JUVENILE	CHELAN CO LAKES		
05/2026	05/2026	145,000	75.0	1,933	JUVENILE	FISH LK (CHEL)		
05/2026	05/2026	160,000	85.0	1,882	JUVENILE	JAMESON LK (DOUG)		
05/2026	05/2026	120,000	65.0	1,846	JUVENILE	OKANOGAN CO LAKES		
05/2026	05/2026	100,000	65.0	1,538	JUVENILE	WAPATO LK (CHEL)		
09/2026	09/2026	6,500	2.5	2,600	JUVENILE	OKANOGAN CO LAKES		
Mama: Dra		ontation is donanda		handler and from dima				

CHELAN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Tiger Trout	Egg Taka		
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	50,000	0
Integrated/Segregated:		Planted	50,900	8,297

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	FORD HATCHERY	50,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	10,000	60.0	167	JUVENILE	CHELAN CO LAKES		
05/2026	05/2026	15,000	60.0	250	JUVENILE	OKANOGAN CO LAKES		
10/2026	10/2026	12,400	5.0	2,480	JUVENILE	CHELAN CO LAKES		
10/2026	10/2026	13,500	2.5	5,400	JUVENILE	OKANOGAN CO LAKES		

CHELAN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH CENTRAL WASHINGTON

Brood Year:	2026		Total #	Total Pounds
Species:	Rainbow	Egg Take		
Run:	NA			
Stock:	CALIF-MT WHITNEY	Shipping		
Brood Origin:	HATCHERY	Received	70,000	0
Integrated/Segregated:		Planted	50,000	5,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2026	02/2026	EELLS SPRINGS	70,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2026	10/2026	50,000	10.0	5,000	JUVENILE	FISH LK (CHEL)		

CHELAN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH CENTRAL WASHINGTON

Brood Year:	2026		Total #	Total Pounds
Species:	Tiger Trout	Egg Tako		
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	50,000	0
Integrated/Segregated:		Planted	25,000	417

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2026	12/2026	FORD HATCHERY	50,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2027	05/2027	10,000	60.0	167	JUVENILE	CHELAN CO LAKES		
05/2027	05/2027	15,000	60.0	250	JUVENILE	OKANOGAN CO LAKES		

CHELAN PUD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH CENTRAL WASHINGTON

Brood Year:	2024	Total # Total Pounds
Species: Run:	Rainbow NA	Egg Take
Stock:	SPOKANE HATCHERY	Shipping
Brood Origin:	HATCHERY	Received
Integrated/Segregat	ed:	Planted 67,000 30,000
Estimated Brood	Data	
Egg Take Goal		
Estimated Transf	er Data	
Shipped or Received	Start Date End Date Facility	Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
08/2025	08/2025	50,000	2.5	20,000	JUVENILE	LK CHELAN (CHEL)		
11/2025	11/2025	15,000	2.5	6,000	JUVENILE	ROSES LK (CHEL)		
04/2026	04/2026	2,000	0.5	4,000	JUVENILE	CHELAN CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Triploids. The 50K fish being planted into Lake Chelan are backfill for if the Cutthroat program falls short.

CHELAN PUD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH CENTRAL WASHINGTON

Shipped or Received	Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage
Estimated Transfe	r Data					
Egg Take Goal						
Estimated Brood D	Data					
Integrated/Segregated	d:			Planted	75,000	30,000
Brood Origin:	HATCHERY		Received			
Stock:	CALIF-MT WHITNEY			Shipping		
Run:	NA			Egg Take		
Species:	Rainbow				Total #	Total Pounds
Brood Year:	2025					T . 10 1

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	60,000	2.5	24,000	JUVENILE	CHELAN CO LAKES		
04/2026	04/2026	15,000	2.5	6,000	JUVENILE	DOUGLAS CO LAKES		

CHELAN PUD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Egg Take		
Run:	NA			
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	100,000	0
Integrated/Segregated:		Planted	67,000	30,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	100,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
08/2026	08/2026	50,000	2.5	20,000	JUVENILE	LK CHELAN (CHEL)		
11/2026	11/2026	15,000	2.5	6,000	JUVENILE	ROSES LK (CHEL)		
04/2027	04/2027	2,000	0.5	4,000	JUVENILE	CHELAN CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Triploids. The 50K fish being planted into Lake Chelan are backfill for if the Cutthroat program falls short.

CHELAN PUD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH CENTRAL WASHINGTON

Brood Year:	2026		Total #	Total Pounds
Species:	Rainbow	Egg Take		
Run:	NA			
Stock:	CALIF-MT WHITNEY	Shipping		
Brood Origin:	HATCHERY	Received	130,000	0
Integrated/Segregated:		Planted	75,000	30,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2026	02/2026	EELLS SPRINGS	130,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	60,000	2.5	24,000	JUVENILE	CHELAN CO LAKES		
04/2027	04/2027	15,000	2.5	6,000	JUVENILE	DOUGLAS CO LAKES		

COLUMBIA BASIN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Brown Trout	Egg Tako		
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	25,000	250
Integrated/Segregated:		Planted	24,000	240

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	05/2026	05/2026	SPOKANE HATCHERY	25,000	100.0	250	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	1,000	100.0	10	JUVENILE	ADAMS CO LAKES		
05/2026	05/2026	23,000	100.0	230	JUVENILE	GRANT CO LAKES		

COLUMBIA BASIN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH CENTRAL WASHINGTON

Brood Year:	2025				Total #	Total Pounds	
Species:	Rainbow			Egg Take			
Run:	NA						
Stock:	CALIF-MT WHITNEY			Shipping			
Brood Origin:	HATCHERY			Received			
Integrated/Segregation	ted:			Planted	53,500	21,400	
Estimated Brood	l Data						
Egg Take Goal							
Estimated Trans	fer Data						
Shipped or Received	d Start Date End Date Facilit	у	Number	FPP	Total Pounds	Life Stage	

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
02/2026	02/2026	35,000	2.5	14,000	JUVENILE	PIERCE CO LAKES		
03/2026	03/2026	8,000	2.5	3,200	JUVENILE	LK MERIDIAN (KING)		
03/2026	04/2026	10,500	2.5	4,200	JUVENILE	GRANT CO LAKES		

COLUMBIA BASIN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fee Teles		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	200,000	250
Brood Origin:	HATCHERY	Received	605,000	0
Integrated/Segregated:		Planted	264,000	41,550

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or I	Received	Start Date	End Date	Facilit	у		Number	FPP	Total Pounds	Life St	age
Received		11/2025	11/2025	GOLI	DENDALE HATCHI	ERY	375,000		0	EGGS	SEYED
Received		12/2025	12/2025	GOLI	GOLDENDALE HATCHERY		230,000		0	EGGS	SEYED
Shipped		12/2025	12/2025	MESE	MESEBERG HATCHERY		200,000	800.0	250	JUVE	NILE
Estimated	Release	<u>Data</u>									
Start Date	End Date	Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged
03/2026	03/2026	15(0,000	100.0	1,500	JUVENILE	GRANT CO LAKES				
10/2026	10/2026	17	7,000	4.0	4,250	JUVENILE	GRANT CO LAKES				
10/2026	10/2026	87	7,000	2.5	34,800	JUVENILE	GRANT CO LAKES				
11/2026	11/2026	1(),000	10.0	1,000	JUVENILE	GRANT CO LAKES				

COLUMBIA BASIN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fee Teles		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	2,600	0
Brood Origin:	HATCHERY	Received	450,000	0
Integrated/Segregated:		Planted	360,000	3,600

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2026	01/2026	GRANT COUNTY CONS. DIST.	2,600		0	EGGS EYED
Received	01/2026	01/2026	SPOKANE HATCHERY	450,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	278,900	100.0	2,789	JUVENILE	GRANT CO LAKES		
04/2026	05/2026	81,100	100.0	811	JUVENILE	SPRAGUE LK (ADAM/LINC)		

Memo: Program implementation is dependent on legal authority and funding. Receive eggs between January 15th to 31st.

COLUMBIA BASIN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Tiger Trout			
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping	2,000	20
Brood Origin:	HATCHERY	Received	25,000	100
Integrated/Segregated:		Planted	23,000	230

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2026	04/2026	FORD HATCHERY	25,000	250.0	100	JUVENILE
Shipped	05/2026	05/2026	NACHES HATCHERY	2,000	100.0	20	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	23,000	100.0	230	JUVENILE	GRANT CO LAKES		

COLUMBIA BASIN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH CENTRAL WASHINGTON

Brood Year:	2026		Total #	Total Pounds
Species:	Rainbow	Egg Take		
Run:	NA			
Stock:	CALIF-MT WHITNEY	Shipping		
Brood Origin:	HATCHERY	Received	125,000	0
Integrated/Segregated:		Planted	53,500	21,400

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2026	03/2026	EELLS SPRINGS	125,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
02/2027	02/2027	35,000	2.5	14,000	JUVENILE	PIERCE CO LAKES		
03/2027	03/2027	8,000	2.5	3,200	JUVENILE	LK MERIDIAN (KING)		
03/2027	04/2027	10,500	2.5	4,200	JUVENILE	GRANT CO LAKES		

COLVILLE HS(COLVILLE

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Estimated I Start Date	Release End Date		lease	FPP	Total Pounds	Life Stage	Release Site		Mark ⁻	Гуре Tagged
Received		12/2025	12/2025	SPOKA	NE HATCHERY		35,000		0	EGGS EYED
Shipped or Re	eceived	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage
Estimated 1	Transfer	<u>Data</u>								
Estimated I Egg Take Goa		ata								
Integrated/Se	egregated	l:						Planted		
Brood Origin:		HATCHE	RY					Received	35,000	0
Stock:		SPOKAN	E HATCHERY					Shipping		
Species: Run:		NA	1					Egg Take		
Brood Year:		2025 Rainbow							Total #	Total Pounds

CURLEW LK NET PEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2024				Total #	Total Pounds
Species:	Rainbow			Egg Take		
Run:	NA					
Stock:	SPOKANE HATCHERY			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregat	ed:			Planted	80,000	13,333
Estimated Brood	Data					
Egg Take Goal						
Estimated Transf	<u>er Data</u>					
Shipped or Received	Start Date End Date Fa	acility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	10/2025	80,000	6.0	13,333	JUVENILE	CURLEW LK (FERR)		

CURLEW LK NET PEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Species:RainbowEgg TakeEgg TakeRun:NAEgg TakeShippingStock:SPOKANE HATCHERYShippingIntegrated/Segregated:Integrated/Segregated:Integrated/Segregated:Formation of the stock of	Brood Year:	2025		Total #	Total Pounds
Kun: NA Stock: SPOKANE HATCHERY Brood Origin: HATCHERY Received 85,000 1,700	Species:	Rainbow	Fag Tako		
Brood Origin:HATCHERYReceived85,0001,700	Run:	NA			
	Stock:	SPOKANE HATCHERY	Shipping		
Integrated/Segregated: Planted 80,000 13,333	Brood Origin:	HATCHERY	Received	85,000	1,700
	Integrated/Segregated:		Planted	80,000	13,333

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	05/2026	05/2026	SPOKANE HATCHERY	85,000	50.0	1,700	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2026	10/2026	80,000	6.0	13,333	JUVENILE	CURLEW LK (FERR)		

DEER LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Eastern Brook Trout	Coo Tala		
Run:	ΝΑ	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	15,000	750
Integrated/Segregated:		Planted	14,500	2,900

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	SPOKANE HATCHERY	15,000	20.0	750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	14,500	5.0	2,900	JUVENILE	DEER LK (STEV)		

Memo: Program implementation is dependent on legal authority and funding. Ken Santora Net Pen site.

DEER LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	45,000	2,250
Integrated/Segregated:		Planted	43,500	8,700

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	SPOKANE HATCHERY	45,000	20.0	2,250	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	43,500	5.0	8,700	JUVENILE	DEER LK (STEV)		

DEER LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Eastern Brook Trout	E Talva		
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	15,000	750
Integrated/Segregated:		Planted	14,500	2,900

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2026	10/2026	SPOKANE HATCHERY	15,000	20.0	750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	14,500	5.0	2,900	JUVENILE	DEER LK (STEV)		

Memo: Program implementation is dependent on legal authority and funding. Ken Santora Net Pen site.

DEER LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	I		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	45,000	2,250
Integrated/Segregated:		Planted	43,500	8,700

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2026	10/2026	SPOKANE HATCHERY	45,000	20.0	2,250	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	43,500	5.0	8,700	JUVENILE	DEER LK (STEV)		

DIAMOND LK NP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	15,000	750
Integrated/Segregat	ed:	Planted	14,500	2,900

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	FORD HATCHERY	15,000	20.0	750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	14,500	5.0	2,900	JUVENILE	DIAMOND LK (PEND)		

DIAMOND LK NP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	15,000	750
Integrated/Segregate	ed:	Planted	14,500	2,900

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2026	10/2026	FORD HATCHERY	15,000	20.0	750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	14,500	5.0	2,900	JUVENILE	DIAMOND LK (PEND)		

EAST VALLEY MS(SPOKA

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Species:RainbowEgg TakeEgg TakeRun:NAShippingShippingStock:SPOKANE HATCHERYReceived2500Brood Origin:HATCHERYPlanted2252	Brood Year:	2025		Total #	Total Pounds
Run: NA Stock: SPOKANE HATCHERY Brood Origin: HATCHERY Received 250	-		Fgg Take		
Brood Origin: HATCHERY Received 250 0					
had a marked of the second s					
Integrated/Segregated: 225 2	-	HATCHERY	Received	250	0
	Integrated/Segregated:		Planted	225	2

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	250		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	225	100.0	2	JUVENILE	LIBERTY LK (SPOK) (57)		

EELLS SPRINGS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023				Total #	Total Pounds
Species:	Rainbow			Egg Take		
Run: Stock:	NA CALIF-MT WHITNEY			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregat	ted:			Planted	2,280	7,862
Estimated Brood	Data				'	
Egg Take Goal						
Estimated Trans	fer Data					
Shipped or Received	d Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2026	05/2026	340	0.3	1,172	BROODSTOCK	JEFFERSON CO LAKES		
03/2026	05/2026	200	0.3	690	BROODSTOCK	KITSAP CO LAKES		
03/2026	05/2026	600	0.3	2,069	BROODSTOCK	MASON CO LAKES		
03/2026	05/2026	1,140	0.3	3,931	BROODSTOCK	THURSTON CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Ship eggs to Columbia Basin as late as possible.

EELLS SPRINGS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year: Species: Run: Stock: Brood Origin: Integrated/Segregated: Estimated Brood Data	2023 Rainbow NA SPRING CR-GOLDENDALE HATCHERY	Shi	g Take pping ceived nted	Total # 140,450	Total Pounds 72,238
Egg Take Goal					
Estimated Transfer Da Shipped or Received Sta	<u>ita</u> rt Date End Date Facility	Number	FPP	Total Pounds	Life Stage

EELLS SPRINGS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	140,450	72,238

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2025	10/2025	31,250	1.3	24,038	JUVENILE	MASON CO LAKES		
06/2025	08/2025	50,000	2.0	25,000	JUVENILE	LEWIS CO LAKES	AD	
10/2025	10/2025	2,760	1.0	2,760	JUVENILE	JEFFERSON CO LAKES		
10/2025	10/2025	1,800	1.0	1,800	JUVENILE	KITSAP CO LAKES		
10/2025	10/2025	11,640	1.0	11,640	JUVENILE	MASON CO LAKES		
10/2025	10/2025	40,000	10.0	4,000	JUVENILE	MASON CO LAKES		
10/2025	10/2025	3,000	1.0	3,000	JUVENILE	THURSTON CO LAKES		

EELLS SPRINGS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024				Total #	Total Pounds
Species:	Rainbow		Fac Take			
Run:	NA			Egg Take		
Stock:	CALIF-MT WHITNEY			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregation	ted:			Planted	2,280	7,862
Estimated Brood	Data					
Egg Take Goal						
Estimated Trans	fer Data					
Shipped or Received	d Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2027	05/2027	340	0.3	1,172	BROODSTOCK	JEFFERSON CO LAKES		
03/2027	05/2027	200	0.3	690	BROODSTOCK	KITSAP CO LAKES		
03/2027	05/2027	600	0.3	2,069	BROODSTOCK	MASON CO LAKES		
03/2027	05/2027	1,140	0.3	3,931	BROODSTOCK	THURSTON CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Ship eggs to Columbia Basin as late as possible.

EELLS SPRINGS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	122,500	14,230
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	457,665	200,624

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2025	10/2025	FORKS CREEK HATCHERY	4,000	10.0	400	JUVENILE
Shipped	10/2025	10/2025	HUMPTULIPS HATCHERY	10,000	10.0	1,000	JUVENILE
Shipped	10/2025	10/2025	LK ABERDEEN HATCHERY	21,500	10.0	2,150	JUVENILE
Shipped	10/2025	10/2025	NEMAH HATCHERY	25,000	10.0	2,500	JUVENILE
Shipped	10/2025	10/2025	OFFUTT LK NP	10,000	10.0	1,000	JUVENILE
Shipped	10/2025	10/2025	SEA RESOURCES HATCH	500	10.0	50	JUVENILE
Shipped	10/2025	10/2025	SOLDUC HATCHERY	9,000	10.0	900	JUVENILE
Shipped	10/2025	12/2025	LAKEWOOD HATCHERY	34,000	10.0	3,400	JUVENILE
Shipped	06/2026	06/2026	HURD CR HATCHERY	1,500	50.0	30	JUVENILE
Shipped	06/2026	06/2026	SATSOP SPRINGS PONDS	7,000	2.5	2,800	JUVENILE

EELLS SPRINGS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	122,500	14,230
Brood Origin:	HATCHERY	Received		
Integrated/Segregated		Planted	457,665	200,624

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2026	10/2026	31,250	1.3	24,038	JUVENILE	MASON CO LAKES		
04/2026	04/2026	17,500	2.5	7,000	JUVENILE	JEFFERSON CO LAKES		
04/2026	04/2026	25,500	2.5	10,200	JUVENILE	KITSAP CO LAKES		
04/2026	04/2026	95,965	2.5	38,386	JUVENILE	MASON CO LAKES		
04/2026	04/2026	163,250	2.5	65,300	JUVENILE	THURSTON CO LAKES		
06/2026	08/2026	65,000	2.0	32,500	JUVENILE	LEWIS CO LAKES	AD	
10/2026	10/2026	2,760	1.0	2,760	JUVENILE	JEFFERSON CO LAKES		
10/2026	10/2026	1,800	1.0	1,800	JUVENILE	KITSAP CO LAKES		
10/2026	10/2026	11,640	1.0	11,640	JUVENILE	MASON CO LAKES		
10/2026	10/2026	40,000	10.0	4,000	JUVENILE	MASON CO LAKES		
10/2026	10/2026	3,000	1.0	3,000	JUVENILE	THURSTON CO LAKES		

EELLS SPRINGS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year: Species:	2025 Rainbow		Total #	Total Pounds
Run:	NA	Egg Ta	ke	
Stock:	CALIF-MT WHITNEY	Shippi	ng	
Brood Origin:	HATCHERY	Receiv	ed	
Integrated/Segregat	ted:	Plante	d 5,280	7,872
Estimated Brood	l Data			
Egg Take Goal				
Estimated Trans	fer Data			
Shipped or Received	d Start Date End Date Facility	Number F	PP Total Pound	s Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
06/2025	07/2025	3,000	300.0	10	JUVENILE	GRAYS HARBOR CO LAKES		
03/2028	05/2028	340	0.3	1,172	BROODSTOCK	JEFFERSON CO LAKES		
03/2028	05/2028	200	0.3	690	BROODSTOCK	KITSAP CO LAKES		
03/2028	05/2028	600	0.3	2,069	BROODSTOCK	MASON CO LAKES		
03/2028	05/2028	1,140	0.3	3,931	BROODSTOCK	THURSTON CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Ship eggs to Columbia Basin as late as possible.

EELLS SPRINGS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Coo Toluo		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	122,500	14,230
Brood Origin:	HATCHERY	Received	1,100,000	0
Integrated/Segregated:		Planted	457,665	194,124

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	01/2026	GOLDENDALE HATCHERY	1,100,000		0	EGGS EYED
Shipped	06/2026	06/2026	HURD CR HATCHERY	1,500	50.0	30	JUVENILE
Shipped	10/2026	10/2026	FORKS CREEK HATCHERY	4,000	10.0	400	JUVENILE
Shipped	10/2026	10/2026	HUMPTULIPS HATCHERY	10,000	10.0	1,000	JUVENILE
Shipped	10/2026	10/2026	LAKEWOOD HATCHERY	34,000	10.0	3,400	JUVENILE
Shipped	10/2026	10/2026	LK ABERDEEN HATCHERY	21,500	10.0	2,150	JUVENILE
Shipped	10/2026	10/2026	NEMAH HATCHERY	25,000	10.0	2,500	JUVENILE
Shipped	10/2026	10/2026	OFFUTT LK NP	10,000	10.0	1,000	JUVENILE
Shipped	10/2026	12/2026	SOLDUC HATCHERY	9,000	10.0	900	JUVENILE
Shipped	11/2026	11/2026	SEA RESOURCES HATCH	500	10.0	50	JUVENILE
Shipped	06/2027	06/2027	SATSOP SPRINGS PONDS	7,000	2.5	2,800	JUVENILE

EELLS SPRINGS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			Total Total a
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	122,500	14,230
Brood Origin:	HATCHERY	Received	1,100,000	0
Integrated/Segregated:		Planted	457,665	194,124

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2027	10/2027	31,250	1.3	24,038	JUVENILE	MASON CO LAKES		
04/2027	04/2027	17,500	2.5	7,000	JUVENILE	JEFFERSON CO LAKES		
04/2027	04/2027	25,500	2.5	10,200	JUVENILE	KITSAP CO LAKES		
04/2027	04/2027	95,965	2.5	38,386	JUVENILE	MASON CO LAKES		
04/2027	04/2027	163,250	2.5	65,300	JUVENILE	THURSTON CO LAKES		
06/2027	08/2027	65,000	2.5	26,000	JUVENILE	LEWIS CO LAKES	AD	
10/2027	10/2027	2,760	1.0	2,760	JUVENILE	JEFFERSON CO LAKES		
10/2027	10/2027	1,800	1.0	1,800	JUVENILE	KITSAP CO LAKES		
10/2027	10/2027	11,640	1.0	11,640	JUVENILE	MASON CO LAKES		
10/2027	10/2027	40,000	10.0	4,000	JUVENILE	MASON CO LAKES		
10/2027	10/2027	3,000	1.0	3,000	JUVENILE	THURSTON CO LAKES		

EELLS SPRINGS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2026		Total #	Total Pounds
Species:	Rainbow	Egg Take	1,675,000	
Run:	NA			
Stock:	CALIF-MT WHITNEY	Shipping	372,000	0
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	5,280	7,872

Estimated Brood Data

Egg Take Goal 1,675,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	02/2026	02/2026	ARLINGTON HATCHERY	12,000		0	EGGS GREEN
Shipped	02/2026	02/2026	CHELAN HATCHERY	70,000		0	EGGS EYED
Shipped	02/2026	02/2026	CHELAN PUD HATCHERY	130,000		0	EGGS EYED
Shipped	02/2026	02/2026	TOKUL CR HATCHERY	20,000		0	EGGS EYED
Shipped	03/2026	03/2026	NACHES HATCHERY	15,000		0	EGGS EYED
Shipped	03/2026	04/2026	COLUMBIA BASIN HATCHERY	125,000		0	EGGS EYED

Memo: Program implementation is dependent on legal authority and funding. Ship eggs to Columbia Basin as late as possible.

EELLS SPRINGS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2026		Total #	Total Pounds
Species:	Rainbow	Fag Taka		
Run:	NA	Egg Take	1,675,000	
Stock:	CALIF-MT WHITNEY	Shipping	372,000	0
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	5,280	7,872

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
06/2026	07/2026	3,000	300.0	10	JUVENILE	GRAYS HARBOR CO LAKES		
03/2029	05/2029	340	0.3	1,172	BROODSTOCK	JEFFERSON CO LAKES		
03/2029	05/2029	200	0.3	690	BROODSTOCK	KITSAP CO LAKES		
03/2029	05/2029	600	0.3	2,069	BROODSTOCK	MASON CO LAKES		
03/2029	05/2029	1,140	0.3	3,931	BROODSTOCK	THURSTON CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Ship eggs to Columbia Basin as late as possible.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: Species:	2022 Brown Trout		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received		
Integrated/Segregat	ed:	Planted	2,000	4,000
Estimated Brood	Data			
Egg Take Goal				
Estimated Transf	fer Data			
Shipped or Received	Start Date End Date Facility	Number FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	12/2025	1,000	0.5	2,000	BROODSTOCK	SPOKANE CO LAKES		
10/2025	12/2025	1,000	0.5	2,000	BROODSTOCK	STEVENS CO LAKES		

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: Species:	2023 Brown Trout				Total #	Total Pounds
Run:	NA			Egg Take		
Stock:	FORD STOCK			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregat	ted:			Planted	2,000	4,000
Estimated Brood	Data					
Egg Take Goal						
Estimated Trans	fer Data					
Shipped or Received	d Start Date End Date Fac	cility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2026	12/2026	1,000	0.5	2,000	BROODSTOCK	SPOKANE CO LAKES		
10/2026	12/2026	1,000	0.5	2,000	BROODSTOCK	STEVENS CO LAKES		

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

				Planted	2,000	2,000
CHERY				Received		
D STOCK				Shipping		
				Egg Take		
					Total #	Total Pounds
	3 ærn Brook Trout D STOCK CHERY	ern Brook Trout D STOCK	ern Brook Trout	ern Brook Trout	ern Brook Trout Egg Take D STOCK CHERY CHERY CHERY	Total # D STOCK Shipping CHERY Received

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	12/2025	500	1.0	500	BROODSTOCK	PEND OREILLE CO LAKES		
10/2025	12/2025	1,500	1.0	1,500	BROODSTOCK	SPOKANE CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Goldendale and Chelan Transfers are Triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Brown Trout	Egg Take		
Run:	NA			
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	2,100	420
Integrated/Segregated:		Planted	2,000	4,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2026	04/2026	SPOKANE HATCHERY	2,100	5.0	420	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2027	12/2027	1,000	0.5	2,000	BROODSTOCK	SPOKANE CO LAKES		
10/2027	12/2027	1,000	0.5	2,000	BROODSTOCK	STEVENS CO LAKES		

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Estimated Transf Shipped or Received		Facility	Number	FPP	Total Pounds	Life Stage
Egg Take Goal						
Estimated Brood	Data					
Integrated/Segregat	ted:			Planted	2,000	2,000
Brood Origin:	HATCHERY			Received		
Stock:	FORD STOCK			Shipping		
Run:	NA			Egg Take		
Brood Year: Species:	2024 Eastern Brook Trout				Total #	Total Pounds

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2026	12/2026	500	1.0	500	BROODSTOCK	PEND OREILLE CO LAKES		
10/2026	12/2026	1,500	1.0	1,500	BROODSTOCK	SPOKANE CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Goldendale and Chelan Transfers are Triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Coo Tales		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	45,000	2,250
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	432,800	64,200

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2025	10/2025	DIAMOND LK NP	15,000	20.0	750	JUVENILE
Shipped	10/2025	10/2025	SHERMAN CR HATCHERY	30,000	20.0	1,500	JUVENILE

Memo: Program implementation is dependent on legal authority and funding. All fish planted into Pend Oreille county lakes are triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Fee Telve		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	45,000	2,250
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	432,800	64,200

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	10/2025	200,000	20.0	10,000	JUVENILE	BANKS LK (GRAN)		
10/2025	10/2025	20,000	20.0	1,000	JUVENILE	PEND OREILLE CO LAKES		
03/2026	04/2026	42,000	4.0	10,500	JUVENILE	LINCOLN CO LAKES		
03/2026	04/2026	44,000	4.0	11,000	JUVENILE	PEND OREILLE CO LAKES		
03/2026	04/2026	48,000	4.0	12,000	JUVENILE	SPOKANE CO LAKES		
03/2026	04/2026	52,000	4.0	13,000	JUVENILE	STEVENS CO LAKES		
03/2026	04/2026	24,000	4.0	6,000	JUVENILE	WHITMAN CO LAKES		
04/2026	05/2026	2,800	4.0	700	JUVENILE	FERRY CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. All fish planted into Pend Oreille county lakes are triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Brown Trout	Fag Taka		
Run:	NA	Egg Take	725,000	
Stock:	FORD STOCK	Shipping	568,500	0
Brood Origin:	HATCHERY	Received	2,100	420
Integrated/Segregated:		Planted	2,000	4,000

Estimated Brood Data

Egg Take Goal 725,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	11/2025	11/2025	MOSSYROCK HATCHERY	17,500		0	EGGS EYED
Shipped	12/2025	12/2025	CHELAN HATCHERY	50,000		0	EGGS EYED
Shipped	12/2025	12/2025	GOLDENDALE HATCHERY	12,000		0	EGGS EYED
Shipped	12/2025	12/2025	KENDALL CR HATCHERY	64,000		0	EGGS EYED
Shipped	12/2025	12/2025	SPOKANE HATCHERY	425,000		0	EGGS EYED
Received	04/2027	04/2027	SPOKANE HATCHERY	2,100	5.0	420	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2028	12/2028	1,000	0.5	2,000	BROODSTOCK	SPOKANE CO LAKES		
10/2028	12/2028	1,000	0.5	2,000	BROODSTOCK	STEVENS CO LAKES		

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Eastern Brook Trout	Fag Tako	400,000	
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping	210,500	0
Brood Origin:	HATCHERY	Received	2,100	28
Integrated/Segregated:		Planted	2,000	2,000

Estimated Brood Data

Egg Take Goal 400,000

Estimated Transfer Data

Shipped or F	Received	Start Date	End Date	Facilit	y		Number	FPP	Total Pounds	Life Sta	ige
Shipped		12/2025	12/2025	CHEL	AN HATCHERY		100,000		0	EGGS	EYED
Shipped		12/2025	12/2025	GOLI	DENDALE HATCHE	ERY	25,000		0	EGGS	EYED
Shipped		12/2025	12/2025	SPOK	ANE HATCHERY		85,000		0	EGGS	EYED
Shipped		12/2025	12/2025	WEST	VALLEY HS(SPO	KA	500		0	EGGS	EYED
Received		06/2026	06/2026	SPOK	ANE HATCHERY		2,100	75.0	28	JUVEN	JILE
Estimated	Release	<u>Data</u>									
Start Date	End Date	Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged
10/2027	12/2027		500	1.0	500	BROODSTOCK	PEND OREILLE CO	LAKES			
10/2027	12/2027	1	,500	1.0	1,500	BROODSTOCK	SPOKANE CO LAKI	ES			

Memo: Program implementation is dependent on legal authority and funding. Goldendale and Chelan Transfers are Triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fag Taka		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	245,200	5,583
Brood Origin:	HATCHERY	Received	1,550,000	0
Integrated/Segregated:		Planted	920,300	71,550

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	1,550,000		0	EGGS EYED
Shipped	12/2025	12/2025	WILBUR SD 200(WILBUR	200		0	EGGS EYED
Shipped	06/2026	06/2026	SHERMAN CR HATCHERY	200,000	60.0	3,333	JUVENILE
Shipped	10/2026	10/2026	DIAMOND LK NP	15,000	20.0	750	JUVENILE
Shipped	10/2026	10/2026	SHERMAN CR HATCHERY	30,000	20.0	1,500	JUVENILE

Memo: Program implementation is dependent on legal authority and funding. All fish planted into Pend Oreille county lakes are triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	245,200	5,583
Brood Origin:	HATCHERY	Received	1,550,000	0
Integrated/Segregated	:	Planted	920,300	71,550

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	45,000	100.0	450	JUVENILE	FERRY CO LAKES		
05/2026	05/2026	40,000	100.0	400	JUVENILE	PEND OREILLE CO LAKES		
05/2026	05/2026	185,000	100.0	1,850	JUVENILE	SPOKANE CO LAKES		
05/2026	05/2026	215,000	100.0	2,150	JUVENILE	STEVENS CO LAKES		
10/2026	10/2026	200,000	20.0	10,000	JUVENILE	BANKS LK (GRAN)	AD	
10/2026	10/2026	20,000	20.0	1,000	JUVENILE	PEND OREILLE CO LAKES		
10/2026	10/2026	1,250	1.0	1,250	JUVENILE	SPOKANE CO LAKES		
10/2026	10/2026	1,250	1.0	1,250	JUVENILE	STEVENS CO LAKES		
03/2027	04/2027	42,000	4.0	10,500	JUVENILE	LINCOLN CO LAKES		
03/2027	04/2027	44,000	4.0	11,000	JUVENILE	PEND OREILLE CO LAKES		
03/2027	04/2027	48,000	4.0	12,000	JUVENILE	SPOKANE CO LAKES		
03/2027	04/2027	52,000	4.0	13,000	JUVENILE	STEVENS CO LAKES		
03/2027	04/2027	24,000	4.0	6,000	JUVENILE	WHITMAN CO LAKES		
04/2027	05/2027	2,800	4.0	700	JUVENILE	FERRY CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. All fish planted into Pend Oreille county lakes are triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Tiger Trout	Egg Tako	1,000,000	
Run:	NA	Egg Take	1,000,000	
Stock:	FORD STOCK	Shipping	170,500	1,067
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	20,000	200

Estimated Brood Data

Egg Take Goal 1,000,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	11/2025	11/2025	GOLDENDALE HATCHERY	20,000		0	EGGS EYED
Shipped	11/2025	11/2025	WEST VALLEY HS(SPOKA	500		0	EGGS EYED
Shipped	12/2025	12/2025	CHELAN HATCHERY	50,000		0	EGGS EYED
Shipped	04/2026	04/2026	COLUMBIA BASIN HATCHERY	25,000	250.0	100	JUVENILE
Shipped	06/2026	06/2026	OMAK HATCHERY	10,000	100.0	100	JUVENILE
Shipped	06/2026	06/2026	SPOKANE HATCHERY	65,000	75.0	867	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026 05/2026	05/2026 05/2026	1,500 18,500	100.0 100.0	15 185	JUVENILE JUVENILE	PEND OREILLE CO LAKES STEVENS CO LAKES		

FORKS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	I		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	4,000	400
Integrated/Segregated:		Planted	4,000	4,400

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	EELLS SPRINGS	4,000	10.0	400	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	2,800	2.0	1,400	JUVENILE	PACIFIC CO LAKES		
10/2026	10/2026	1,000	0.5	2,000	JUVENILE	PACIFIC CO LAKES		
04/2027	04/2027	200	0.2	1,000	JUVENILE	PACIFIC CO LAKES		

FORKS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	4,000	400
Integrated/Segregated:		Planted	3,800	3,400

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2026	10/2026	EELLS SPRINGS	4,000	10.0	400	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	05/2027	2,800	2.0	1,400	JUVENILE	PACIFIC CO LAKES		
10/2027	10/2027	1,000	0.5	2,000	JUVENILE	PACIFIC CO LAKES		

FORT COLVILLE ES

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Egg Take		
Run:	NA			
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	500	0
Integrated/Segregated:		Planted	475	2

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	500		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	475	250.0	2	JUVENILE	HATCH LK (STEV)		

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year: Species: Run: Stock: Brood Origin: Integrated/Segregated:	2021 Rainbow NA SPRING CR-GOLDENDALE HATCHERY		Egg Take Shipping Received Planted	Total # 700	Total Pounds7,000
Estimated Brood Da Egg Take Goal					
Estimated Transfer Shipped or Received	Data Start Date End Date Facility	Number	FPP	Total Pounds	Life Stage

Memo: Program implementation is dependent on legal authority and funding. Some Broodstock Plants are for Kids Fishing Events. 1,000 fish shipped to Carson NFH for fishing derby.

Thursday, May 8, 2025

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2021		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	700	7,000

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
11/2025	11/2025	96	0.1	960	BROODSTOCK	KITTITAS CO LAKES		
11/2025	11/2025	128	0.1	1,280	BROODSTOCK	YAKIMA CO LAKES		
11/2025	01/2026	103	0.1	1,030	BROODSTOCK	CLARK CO LAKES		
11/2025	01/2026	40	0.1	400	BROODSTOCK	COWLITZ CO LAKES		
11/2025	01/2026	95	0.1	950	BROODSTOCK	KLICKITAT CO LAKES		
11/2025	01/2026	148	0.1	1,480	BROODSTOCK	LEWIS CO LAKES		
11/2025	01/2026	90	0.1	900	BROODSTOCK	SKAMANIA CO LAKES		

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2022 Delich aus			Total #	Total Pounds
Species: Run:	Rainbow NA		Egg Take		
Stock:	SPRING CR-GOLDENDALE		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:			Planted	2,350	15,635
Estimated Brood Data Egg Take Goal					
Estimated Transfer Day	<u>ta</u> rt Date End Date Facility	Number	FPP	Total Pounds	Life Stage

Memo: Program implementation is dependent on legal authority and funding. Some Broodstock Plants are for Kids Fishing Events. 1,000 fish shipped to Carson NFH for fishing derby.

Thursday, May 8, 2025

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2022		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	2,350	15,635

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
07/2025	07/2025	200	0.3	667	BROODSTOCK	TAKHLAKH LK (SKAM)		
11/2025	11/2025	164	0.2	965	BROODSTOCK	KITTITAS CO LAKES		
11/2025	11/2025	220	0.2	1,100	BROODSTOCK	YAKIMA CO LAKES		
11/2025	01/2026	150	0.2	750	BROODSTOCK	CLARK CO LAKES		
11/2025	01/2026	140	0.2	700	BROODSTOCK	COWLITZ CO LAKES		
11/2025	01/2026	190	0.2	950	BROODSTOCK	KLICKITAT CO LAKES		
11/2025	01/2026	221	0.2	1,300	BROODSTOCK	LEWIS CO LAKES		
11/2025	01/2026	115	0.2	575	BROODSTOCK	SKAMANIA CO LAKES		
04/2026	04/2026	100	0.1	769	BROODSTOCK	HORSETHIEF LK (KLIC)		
04/2026	04/2026	90	0.1	692	BROODSTOCK	KLINELINE PD (CLAR)		
05/2026	05/2026	60	0.1	462	BROODSTOCK	YAKIMA CO LAKES		
11/2026	11/2026	96	0.1	960	BROODSTOCK	KITTITAS CO LAKES		
11/2026	11/2026	128	0.1	985	BROODSTOCK	YAKIMA CO LAKES		
11/2026	01/2027	103	0.1	1,030	BROODSTOCK	CLARK CO LAKES		

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year	r:	2022					Total #	Total Pounds
Species:		Rainbow		Egg Take				
Run: Stock:		NA SPRING CR-GOLDEI		Shipping				
Brood Orig	in:	HATCHERY	NDALL			Received		
Integrated/Segregated:						Planted	2,350	15,635
11/2026	01/2027	40	0.1	400	BROODSTOCK COW	LITZ CO LAKES		
11/2026	01/2027	95	0.1	950	BROODSTOCK KLIC	CKITAT CO LAKES		
11/2026	11/2026 01/2027 148 0.1 1,480 BROODSTOCK LEWIS CO L					'IS CO LAKES		
11/2026								

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

2023			Total #	Total Pounds
		Egg Take		
SPRING CR-GOLDENDALE		Shipping		
HATCHERY		Received		
		Planted	9,650	27,096
<u>Ita</u>		L	,	
Data				
	Rainbow NA SPRING CR-GOLDENDALE HATCHERY	Rainbow NA SPRING CR-GOLDENDALE HATCHERY	Rainbow NA SPRING CR-GOLDENDALE HATCHERY Received Planted	Rainbow NA NA Egg Take SPRING CR-GOLDENDALE Shipping HATCHERY Received Planted 9,650

Memo: Program implementation is dependent on legal authority and funding. Some Broodstock Plants are for Kids Fishing Events. 1,000 fish shipped to Carson NFH for fishing derby.

Thursday, May 8, 2025

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2023		Total #	Total Pounds
Species:	Rainbow	I	· · · · · ·	
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	9,650	27,096

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
11/2025	11/2025	1,500	0.8	1,875	JUVENILE	COWLITZ CO LAKES		
11/2025	11/2025	2,000	0.8	2,500	JUVENILE	KLICKITAT CO LAKES		
11/2025	11/2025	1,000	0.8	1,250	JUVENILE	SKAMANIA CO LAKES		
11/2025	11/2025	1,500	0.8	1,875	JUVENILE	CLARK CO LAKES		
02/2026	02/2026	340	0.5	680	BROODSTOCK	COWLITZ CO LAKES		
02/2026	02/2026	160	0.5	320	BROODSTOCK	YAKIMA CO LAKES		
04/2026	04/2026	425	0.3	1,417	BROODSTOCK	KLINELINE PD (CLAR)		
05/2026	05/2026	290	0.3	967	BROODSTOCK	KLINELINE PD (CLAR)		
05/2026	05/2026	75	0.3	250	BROODSTOCK	YAKIMA CO LAKES		
06/2026	06/2026	10	0.3	33	BROODSTOCK	KLICKITAT CO LAKES		
07/2026	07/2026	200	0.3	667	BROODSTOCK	TAKHLAKH LK (SKAM)		
11/2026	11/2026	164	0.2	965	BROODSTOCK	KITTITAS CO LAKES		
11/2026	11/2026	220	0.2	1,294	BROODSTOCK	YAKIMA CO LAKES		
11/2026	01/2027	150	0.2	750	BROODSTOCK	CLARK CO LAKES		

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Yea	r:	2023					Total #	Total Pounds
Species:		Rainbow				Egg Take		
Run:						Shipping		
Stock:		SPRING CR-GOLDE	NDALE					
Brood Orig	-	HATCHERY		Received				
Integrated	/Segregated:					Planted	9,650	27,096
11/2026	01/2027	140	0.2	700	BROODSTOCK	COWLITZ CO LAKES	i	
11/2026	01/2027	190	0.2	950	BROODSTOCK	KLICKITAT CO LAKES		
11/2026	01/2027	221	0.2	1,105	BROODSTOCK	LEWIS CO LAKES		
11/2026	01/2027	115	0.2	575	BROODSTOCK	SKAMANIA CO LAKES		
04/2027	04/2027	100	0.1	769	BROODSTOCK	HORSETHIEF LK (KLIC)		
04/2027	04/2027	90	0.1	692	BROODSTOCK	KLINELINE PD (CLAR)		
05/2027	05/2027	60	0.1	462	BROODSTOCK	YAKIMA CO LAKES		
11/2027	11/2027	96	0.1	960	BROODSTOCK	KITTITAS CO LAKES		
11/2027	11/2027	128	0.1	1,280	BROODSTOCK	YAKIMA CO LAKES		
11/2027	01/2028	103	0.1	1,030	BROODSTOCK	CLARK CO LAKES		
11/2027	01/2028	40	0.1	400	BROODSTOCK	COWLITZ CO LAKES		
11/2027	01/2028	95	0.1	950	BROODSTOCK	KLICKITAT CO LAKES		
11/2027	01/2028	148	0.1	1,480	BROODSTOCK	LEWIS CO LAKES		
11/2027	01/2028	90	0.1	900	BROODSTOCK	SKAMANIA CO LAKES		

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024				Total #	Total Pounds
Species:	Brown Trout			Fag Taka		
Run:	NA		Egg Take			
Stock:	FORD STOCK			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregate	ed:			Planted	9,000	180
Estimated Brood	<u>Data</u>					
Egg Take Goal						
Estimated Transfe	er Data					
Shipped or Received	Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
06/2025	07/2025	9,000	50.0	180	JUVENILE	SKAMANIA CO LAKES		

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year: Species: Run: Stock: Brood Origin:	2024 Rainbow NA SPRING CR-GOLDENDALE HATCHERY		Egg Take Shipping Received	Total #	Total Pounds
Integrated/Segregated: <u>Estimated Brood Dat</u> Egg Take Goal			Planted	149,306	82,590
Estimated Transfer E Shipped or Received St	<u>ata</u> art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

Memo: Program implementation is dependent on legal authority and funding. Some Broodstock Plants are for Kids Fishing Events. 1,000 fish shipped to Carson NFH for fishing derby.

Thursday, May 8, 2025

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	ΝΑ	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	149,306	82,590

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
01/2026	01/2026	6,833	2.5	2,733	JUVENILE	CLARK CO LAKES		
01/2026	01/2026	8,750	2.5	3,500	JUVENILE	COWLITZ CO LAKES		
01/2026	01/2026	2,000	2.5	800	JUVENILE	FORT BORST PRK LK (LEWI)		
01/2026	01/2026	3,667	2.5	1,467	JUVENILE	KLICKITAT CO LAKES		
01/2026	01/2026	5,667	2.5	2,267	JUVENILE	SKAMANIA CO LAKES		
03/2026	03/2026	3,583	2.5	1,433	JUVENILE	LK SACAJAWEA (COWL)		
03/2026	04/2026	9,420	2.5	3,768	JUVENILE	YAKIMA CO LAKES		
04/2026	04/2026	5,833	2.5	2,333	JUVENILE	BATTLE GROUND LK (CLAR)		
04/2026	04/2026	10,083	2.5	4,033	JUVENILE	COWLITZ CO LAKES		
04/2026	04/2026	24,167	2.5	9,667	JUVENILE	KLICKITAT CO LAKES		
04/2026	04/2026	15,667	2.5	6,267	JUVENILE	SKAMANIA CO LAKES		
05/2026	05/2026	1,833	2.5	733	JUVENILE	BATTLE GROUND LK (CLAR)		
05/2026	05/2026	4,500	2.5	1,800	JUVENILE	COWLITZ CO LAKES		
05/2026	05/2026	2,500	2.5	1,000	JUVENILE	FORT BORST PRK LK (LEWI)		

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year	:	2024					Total #	Total Pounds
Species:		Rainbow				Egg Take		
Run:						Shipping		
Stock:	•	SPRING CR-GOLDE	NDALE					
Brood Orig		HATCHERY				Received		
Integrated/	/Segregated:					Planted	149,306	82,590
05/2026	05/2026	10,750	2.5	4,300	JUVENILE	KLICKITAT CO LAKES		
06/2026	06/2026	3,167	2.5	1,267	JUVENILE	CLARK CO LAKES		
06/2026	06/2026	8,333	2.5	3,333	JUVENILE	KLICKITAT CO LAKES		
06/2026	06/2026	6,250	2.5	2,500	JUVENILE	SKAMANIA CO LAKES		
06/2026	07/2026	6,663	2.5	2,665	JUVENILE	SKAMANIA CO LAKES		
11/2026	11/2026	1,500	0.8	1,875	JUVENILE	CLARK CO LAKES		
11/2026	11/2026	1,500	0.8	1,875	JUVENILE	COWLITZ CO LAKES		
11/2026	11/2026	2,000	0.8	2,500	JUVENILE	KLICKITAT CO LAKES		
11/2026	11/2026	1,000	0.8	1,250	JUVENILE	SKAMANIA CO LAKES		
02/2027	02/2027	340	0.5	680	BROODSTOCK	COWLITZ CO LAKES		
02/2027	02/2027	160	0.5	320	BROODSTOCK	YAKIMA CO LAKES		
04/2027	04/2027	100	0.1	769	BROODSTOCK	HORSETHIEF LK (KLIC)		
04/2027	04/2027	90	0.1	692	BROODSTOCK	KLINELINE PD (CLAR)		
04/2027	04/2027	425	0.3	1,417	BROODSTOCK	KLINELINE PD (CLAR)		
05/2027	05/2027	290	0.3	967	BROODSTOCK	KLINELINE PD (CLAR)		
05/2027	05/2027	75	0.3	250	BROODSTOCK	YAKIMA CO LAKES		
05/2027	05/2027	60	0.1	462	BROODSTOCK	YAKIMA CO LAKES		

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Yea	r:	2024					Total #	Total Pounds
Species:		Rainbow				Egg Take	<u>.</u>	
Run:		NA						
Stock:		SPRING CR-GOLDE	NDALE			Shipping		
Brood Orig		HATCHERY				Received	k	
Integrated	/Segregated:					Planted	149,306	82,590
07/2027	07/2027	200	0.3	667	BROODSTOCK	TAKHLAKH LK (SKAM)		
11/2027	11/2027	164	0.2	820	BROODSTOCK	KITTITAS CO LAKES		
11/2027	11/2027	220	0.2	1,100	BROODSTOCK	YAKIMA CO LAKES		
11/2027	01/2028	150	0.2	750	BROODSTOCK	CLARK CO LAKES		
11/2027	01/2028	140	0.2	700	BROODSTOCK	COWLITZ CO LAKES		
11/2027	01/2028	190	0.2	950	BROODSTOCK	KLICKITAT CO LAKES		
11/2027	01/2028	221	0.2	1,105	BROODSTOCK	LEWIS CO LAKES		
11/2027	01/2028	115	0.2	575	BROODSTOCK	SKAMANIA CO LAKES		
11/2028	11/2028	96	0.1	960	BROODSTOCK	KITTITAS CO LAKES		
11/2028	11/2028	128	0.1	1,280	BROODSTOCK	YAKIMA CO LAKES		
11/2028	01/2029	103	0.1	1,030	BROODSTOCK	CLARK CO LAKES		
11/2028	01/2029	95	0.1	950	BROODSTOCK	KLICKITAT CO LAKES		
11/2028	01/2029	148	0.1	1,480	BROODSTOCK	LEWIS CO LAKES		
11/2028	01/2029	90	0.1	900	BROODSTOCK	SKAMANIA CO LAKES		
11/2028	11/2029	40	0.1	400	BROODSTOCK	COWLITZ CO LAKES		

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

2025		Total #	Total Pounds
Brown Trout			
NA	EggTake		
FORD STOCK	Shipping		
HATCHERY	Received	12,000	0
	Planted	9,000	180
	Brown Trout NA FORD STOCK	Brown Trout NA FORD STOCK HATCHERY Received Planted	Brown Trout Egg Take NA FORD STOCK HATCHERY Received 12,000 Planted 9,000

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	FORD HATCHERY	12,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
06/2026	07/2026	9,000	50.0	180	JUVENILE	SKAMANIA CO LAKES		

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025		Total #	Total Pounds
Species:	Eastern Brook Trout			
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	25,000	0
Integrated/Segregate	ed:	Planted	16,000	320
Estimated Brood	Data			

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	FORD HATCHERY	25,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	07/2026	16,000	50.0	320	JUVENILE	SKAMANIA CO LAKES		

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fee Take	C 000 000	
Run:	NA	Egg Take	6,000,000	
Stock:	SPRING CR-GOLDENDALE	Shipping	3,686,000	833
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	152,310	82,797

Estimated Brood Data

Egg Take Goal 6,000,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2025	11/2025	NACHES HATCHERY	150,000		0	EGGS EYED
Shipped	11/2025	11/2025	COLUMBIA BASIN HATCHERY	375,000		0	EGGS EYED
Shipped	11/2025	11/2025	MOSSYROCK HATCHERY	250,000		0	EGGS EYED
Shipped	11/2025	12/2025	NACHES HATCHERY	200,000		0	EGGS EYED
Shipped	11/2025	01/2026	PUYALLUP HATCHERY	575,000		0	EGGS EYED
Shipped	12/2025	12/2025	ARLINGTON HATCHERY	380,000		0	EGGS EYED
Shipped	12/2025	12/2025	COLUMBIA BASIN HATCHERY	230,000		0	EGGS EYED
Shipped	12/2025	12/2025	KENDALL CR HATCHERY	160,000		0	EGGS EYED
Shipped	12/2025	12/2025	LAKEWOOD HATCHERY	20,000		0	EGGS EYED
Shipped	12/2025	12/2025	MERWIN HATCHERY	75,000		0	EGGS EYED
Shipped	12/2025	12/2025	TOKUL CR HATCHERY	100,000		0	EGGS EYED

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025					Total #	Total Pounds
Species:	Rainbo	w			Fee Take		
Run:	NA			Egg Take	6,000,000		
Stock:	SPRING	CR-GOLDENDA	Shipping	3,686,000	833		
Brood Origin:	HATCH	ERY		Received			
Integrated/Segrega	ated:				Planted	152,310	82,797
Shipped	12/2025	12/2025	VANCOUVER HATCHERY	70,000		0	EGGS EYED
Shipped	12/2025	01/2026	EELLS SPRINGS	1,100,000		0	EGGS EYED
Shipped	09/2027	09/2027	CARSON NFH	1,000	1.2	833	JUVENILE

Memo: Program implementation is dependent on legal authority and funding. Some Broodstock Plants are for Kids Fishing Events. 1,000 fish shipped to Carson NFH for fishing derby.

Thursday, May 8, 2025

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fag Taka		
Run:	NA	Egg Take	6,000,000	
Stock:	SPRING CR-GOLDENDALE	Shipping	3,686,000	833
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	152,310	82,797

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
06/2026	06/2026	3,000	50.0	60	JUVENILE	SKAMANIA CO LAKES		
01/2027	01/2027	6,833	2.5	2,733	JUVENILE	CLARK CO LAKES		
01/2027	01/2027	8,750	2.5	3,500	JUVENILE	COWLITZ CO LAKES		
01/2027	01/2027	2,000	2.5	800	JUVENILE	FORT BORST PRK LK (LEWI)		
01/2027	01/2027	3,667	2.5	1,467	JUVENILE	KLICKITAT CO LAKES		
01/2027	01/2027	5,667	2.5	2,267	JUVENILE	SKAMANIA CO LAKES		
03/2027	03/2027	3,583	2.5	1,433	JUVENILE	LK SACAJAWEA (COWL)		
03/2027	04/2027	9,420	2.5	3,768	JUVENILE	YAKIMA CO LAKES		
04/2027	04/2027	5,833	2.5	2,333	JUVENILE	BATTLE GROUND LK (CLAR)		
04/2027	04/2027	10,083	2.5	4,033	JUVENILE	COWLITZ CO LAKES		
04/2027	04/2027	24,167	2.5	9,667	JUVENILE	KLICKITAT CO LAKES		
04/2027	04/2027	15,667	2.5	6,267	JUVENILE	SKAMANIA CO LAKES		
05/2027	05/2027	1,833	2.5	733	JUVENILE	BATTLE GROUND LK (CLAR)		
05/2027	05/2027	4,500	2.5	1,800	JUVENILE	COWLITZ CO LAKES		

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year	:	2025					Total #	Total Pounds
Species:		Rainbow				Egg Take	6,000,000	
Run:		NA						
Stock:		SPRING CR-GOLDE	NDALE			Shipping	3,686,000	833
Brood Orig	in:	HATCHERY				Received		
Integrated,	/Segregated:					Planted	152,310	82,797
05/2027	05/2027	2,500	2.5	1,000	JUVENILE	FORT BORST PRK LK (LEV	VI)	
05/2027	05/2027	10,750	2.5	4,300	JUVENILE	KLICKITAT CO LAKES		
06/2027	06/2027	3,167	2.5	1,267	JUVENILE	CLARK CO LAKES		
06/2027	06/2027	8,333	2.5	3,333	JUVENILE	KLICKITAT CO LAKES		
06/2027	06/2027	6,250	2.5	2,500	JUVENILE	SKAMANIA CO LAKES		
07/2027	07/2027	6,667	2.5	2,667	JUVENILE	SKAMANIA CO LAKES		
11/2027	11/2027	1,500	0.8	1,875	JUVENILE	CLARK CO LAKES		
11/2027	11/2027	1,500	0.8	1,875	JUVENILE	COWLITZ CO LAKES		
11/2027	11/2027	2,000	0.8	2,500	JUVENILE	KLICKITAT CO LAKES		
11/2027	11/2027	1,000	0.8	1,250	JUVENILE	SKAMANIA CO LAKES		
02/2028	02/2028	340	0.5	680	BROODSTOCK	COWLITZ CO LAKES		
02/2028	02/2028	160	0.5	320	BROODSTOCK	YAKIMA CO LAKES		
04/2028	04/2028	425	0.3	1,417	BROODSTOCK	KLINELINE PD (CLAR)		
05/2028	05/2028	290	0.3	967	BROODSTOCK	KLINELINE PD (CLAR)		
05/2028	05/2028	75	0.3	250	BROODSTOCK	YAKIMA CO LAKES		
07/2028	07/2028	200	0.3	667	BROODSTOCK	TAKHLAKH LK (SKAM)		
11/2028	11/2028	164	0.2	965	BROODSTOCK	KITTITAS CO LAKES		

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year	r:	2025						Total #	Total Pounds
Species: Run:		Rainbow NA				Egg	g Take	6,000,000	
Stock:		SPRING CR-GOLDEI	ΝΟΔΙΕ			Shi	ipping	3,686,000	833
Brood Orig	in:	HATCHERY					ceived		
-	/Segregated:						anted	152,310	82,797
11/2028	11/2028	220	0.2	1,100	BROODSTOCK	YAKIMA CO LAKES			
11/2028	01/2029	150	0.2	750	BROODSTOCK				
11/2028	01/2029	140	0.2	700	BROODSTOCK	COWLITZ CO LAKES	S		
11/2028	01/2029	190	0.2	950	BROODSTOCK	KLICKITAT CO LAKI	ES		
11/2028	01/2029	221	0.2	1,105	BROODSTOCK	LEWIS CO LAKES			
11/2028	01/2029	115	0.2	575	BROODSTOCK	SKAMANIA CO LAKI	ES		
04/2029	04/2029	100	0.1	769	BROODSTOCK	HORSETHIEF LK (KL	LIC)		
04/2029	04/2029	90	0.1	692	BROODSTOCK	KLINELINE PD (CLA	AR)		
05/2029	05/2029	60	0.1	462	BROODSTOCK	YAKIMA CO LAKES			
11/2029	11/2029	96	0.1	960	BROODSTOCK	KITTITAS CO LAKES	S		
11/2029	11/2029	128	0.1	1,280	BROODSTOCK	YAKIMA CO LAKES			
11/2029	01/2030	103	0.1	1,030	BROODSTOCK	CLARK CO LAKES			
11/2029	01/2030	40	0.1	400	BROODSTOCK	COWLITZ CO LAKES	S		
11/2029	01/2030	95	0.1	950	BROODSTOCK	KLICKITAT CO LAKI	ES		
11/2029	01/2030	148	0.1	1,480	BROODSTOCK	LEWIS CO LAKES			
11/2029	01/2030	90	0.1	900	BROODSTOCK	SKAMANIA CO LAKI	ES		

GOLDENDALE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

2025		Total #	Total Pounds
Tiger Trout			
NA	Egg Take		
FORD STOCK	Shipping		
HATCHERY	Received	20,000	0
	Planted	10,000	200
t	NA FORD STOCK	NA Egg Take Shipping HATCHERY Received Planted	Tiger TroutEgg TakeNAFORD STOCKHATCHERYReceived20,000Planted10,000

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2025	11/2025	FORD HATCHERY	20,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	07/2026	10,000	50.0	200	JUVENILE	SKAMANIA CO LAKES		

GRANT COUNTY CONS. DIST.

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Egg Tako		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	2,600	0
Integrated/Segregated:		Planted	2,100	4

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	01/2026	COLUMBIA BASIN HATCHERY	2,600		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	200	500.0	0	JUVENILE	BANKS LK (GRAN)		
05/2026	05/2026	1,900	500.0	4	JUVENILE	MOSES LK (GRAN)		

HUMPTULIPS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species: Run:	Rainbow NA	Egg T	ake	
Stock:	SPRING CR-GOLDENDALE	Shipp	ing	
Brood Origin:	HATCHERY	Recei	ved	
Integrated/Segregate	d:	Plant	ed 500	500
Estimated Brood	<u>Data</u>		1	
Egg Take Goal				
Estimated Transfe	er Data			
Shipped or Received	Start Date End Date Facility	Number	FPP Total Pounds	5 Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	200	1.0	200	JUVENILE	DUCK LK (1) (GRAY)		
04/2026	05/2026	300	1.0	300	JUVENILE	FAILOR LK (GRAY)		

HUMPTULIPS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	I		
Run:	ΝΑ	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	10,000	1,000
Integrated/Segregated:		Planted	9,500	4,100

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	EELLS SPRINGS	10,000	10.0	1,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	2,000	2.5	800	JUVENILE	DUCK LK (1) (GRAY)		
04/2026	04/2026	7,000	2.5	2,800	JUVENILE	FAILOR LK (GRAY)		
04/2027	05/2027	200	1.0	200	JUVENILE	DUCK LK (1) (GRAY)		
04/2027	05/2027	300	1.0	300	JUVENILE	FAILOR LK (GRAY)		

HUMPTULIPS HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	I		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	10,000	1,000
Integrated/Segregated:		Planted	9,500	4,100

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2026	10/2026	EELLS SPRINGS	10,000	10.0	1,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	2,000	2.5	800	JUVENILE	DUCK LK (1) (GRAY)		
04/2027	04/2027	7,000	2.5	2,800	JUVENILE	FAILOR LK (GRAY)		
04/2028	05/2028	200	1.0	200	JUVENILE	DUCK LK (1) (GRAY)		
04/2028	05/2028	300	1.0	300	JUVENILE	FAILOR LK (GRAY)		

HURD CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Rainbow	Egg Ta	(e	
Run:	NA			
Stock:	SPRING CR-GOLDENDALE	Shippi	Ig	
Brood Origin:	HATCHERY	Receiv	ed	
Integrated/Segregat	ed:	Plante	200	1,000
Estimated Brood	Data			
Egg Take Goal				
Estimated Transf	er Data			
Shipped or Received	Start Date End Date Facility	Number F	PP Total Pound	s Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	200	0.2	1,000	JUVENILE	CARRIE BLAKE PRK PD (CLAL)		

Memo: Program implementation is dependent on legal authority and funding. Puget Sound Anglers funded for Kids Fishing Derby. 400 fish used for Senior Citizen fishing event. Remaining fish planted into Lake Leland after event.

HURD CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year: Species: Run: Stock: Brood Origin: Integrated/Segregated	2024 Rainbow NA SPRING CR-GOLDENDALE HATCHERY	Total #Total PoundsEgg Take
Estimated Brood D Egg Take Goal	ata	
Estimated Transfer	Data	
Shipped or Received	Start Date End Date Facility	Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	800	1.0	800	JUVENILE	CARRIE BLAKE PRK PD (CLAL)		
06/2026	07/2026	400	0.8	500	JUVENILE	HURD CR POND		
04/2027	05/2027	200	0.2	1,000	JUVENILE	CARRIE BLAKE PRK PD (CLAL)		

Memo: Program implementation is dependent on legal authority and funding. Puget Sound Anglers funded for Kids Fishing Derby. 400 fish used for Senior Citizen fishing event. Remaining fish planted into Lake Leland after event.

HURD CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	1,500	75
Integrated/Segregated:		Planted	1,400	2,300

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2026	06/2026	EELLS SPRINGS	1,500	20.0	75	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	05/2027	800	1.0	800	JUVENILE	CARRIE BLAKE PRK PD (CLAL)		
06/2027	07/2027	400	0.8	500	JUVENILE	HURD CR POND		
04/2028	05/2028	200	0.2	1,000	JUVENILE	CARRIE BLAKE PRK PD (CLAL)		

Memo: Program implementation is dependent on legal authority and funding. Puget Sound Anglers funded for Kids Fishing Derby. 400 fish used for Senior Citizen fishing event. Remaining fish planted into Lake Leland after event.

ISSAQUAH HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2023		Total #	Total Pounds
Species:	Rainbow	Egg	Take	
Run:	NA		oping	
Stock:	SPRING CR-GOLDENDALE			
Brood Origin:	HATCHERY	Rec	eived	
Integrated/Segregat	ed:	Plar	nted 2,500	8,333
Estimated Brood	Data			
Egg Take Goal				
Estimated Transf	er Data			

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	11/2025	2,500	0.3	8,333	JUVENILE	BEAVER LKS (KING) T24		

ISSAQUAH HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: Species:	2024 Rainbow			Total #	Total Pounds	
Run:	NA	Eg	g Take			
Stock:	SPRING CR-GOLDENDALE	SPRING CR-GOLDENDALE				
Brood Origin:	HATCHERY	HATCHERY				
Integrated/Segregate	ed:	PL	anted	2,500	8,333	
Estimated Brood	Data					
Egg Take Goal						
· · · · · · · · · · · · · · · · · · ·						
Estimated Transf	<u>er Data</u>					

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2026	11/2026	2,500	0.3	8,333	JUVENILE	BEAVER LKS (KING) T24		

ISSAQUAH HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Egg Take		
Run:	NA			
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	18,000	72
Integrated/Segregated:		Planted	15,550	12,775

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	05/2026	05/2026	TOKUL CR HATCHERY	18,000	250.0	72	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	13,050	2.0	6,525	JUVENILE	KING CO LAKES		
10/2027	11/2027	2,500	0.4	6,250	JUVENILE	BEAVER LKS (KING) T24		

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2024		Total #	Total Pounds
Species:	Brown Trout	Egg Take		
Run:	NA			
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	30,500	508
Estimated Brood Dat	<u>a</u>			
Egg Take Goal				

Shipped or Received Start I	Date End Date	Facility	Number	FPP	Total Pounds	Life Stage	
						Life Stage	

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	10/2025	7,000	60.0	117	JUVENILE	CRANBERRY LK (ISLA)		
10/2025	10/2025	12,000	60.0	200	JUVENILE	GREEN LK (KING)		
10/2025	10/2025	5,000	60.0	83	JUVENILE	LK FAZON (WHAT)		
10/2025	10/2025	3,500	60.0	58	JUVENILE	MARTHA LK (WB) (SNOH)		
10/2025	10/2025	3,000	60.0	50	JUVENILE	PASS LK (SKAG)		

Memo: Program implementation is dependent on legal authority and funding. Must be held on regulated pathogen free water.

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2024 Decision and		Total #	Total Pounds
Species:	Rainbow	Egg Ta	<e c<="" th=""><th></th></e>	
Run:	NA			
Stock:	SPRING CR-GOLDENDALE	Shippi	Ig	
Brood Origin:	HATCHERY	Receiv	ed	
Integrated/Segregate	ed:	Plante	51,000	25,500
Estimated Brood	Data		i	
Egg Take Goal				
Estimated Transfe	<u>er Data</u>			
	Start Date End Date Facility	Number F	PP Total Pounds	s Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2026	03/2026	51,000	2.0	25,500	JUVENILE	WHATCOM CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Eggs and fish must be maintained on pathogen free water until transfer. Release at 1.5-3 fpp.

Thursday, May 8, 2025

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2025		Total #	Total Pounds
Species:	Brown Trout	с т.		
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	64,000	0
Integrated/Segregated:	SEGREGATED	Planted	30,500	508

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	FORD HATCHERY	64,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2026	10/2026	7,000	60.0	117	JUVENILE	CRANBERRY LK (ISLA)		
10/2026	10/2026	12,000	60.0	200	JUVENILE	GREEN LK (KING)		
10/2026	10/2026	5,000	60.0	83	JUVENILE	LK FAZON (WHAT)		
10/2026	10/2026	3,500	60.0	58	JUVENILE	MARTHA LK (WB) (SNOH)		
10/2026	10/2026	3,000	60.0	50	JUVENILE	PASS LK (SKAG)		

Memo: Program implementation is dependent on legal authority and funding. Must be held on regulated pathogen free water.

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Faa Taka		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	36,000	120
Brood Origin:	HATCHERY	Received	160,000	0
Integrated/Segregated:		Planted	61,000	25,550

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2025	12/2025	BELLINGHAM HATCHERY	36,000	300.0	120	JUVENILE
Received	12/2025	12/2025	GOLDENDALE HATCHERY	160,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	10,000	200.0	50	JUVENILE	PASS LK (SKAG)		
03/2027	03/2027	51,000	2.0	25,500	JUVENILE	WHATCOM CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Eggs and fish must be maintained on pathogen free water until transfer. Release at 1.5-3 fpp.

LAKEWOOD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Fee Tele		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	34,000	3,400
Integrated/Segregated:		Planted	39,500	34,424

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	12/2025	EELLS SPRINGS	34,000	10.0	3,400	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
11/2025	11/2025	10,000	1.0	10,000	JUVENILE	THURSTON CO LAKES		
03/2026	05/2026	11,000	1.3	8,462	JUVENILE	KITSAP CO LAKES		
03/2026	05/2026	11,000	1.3	8,462	JUVENILE	MASON CO LAKES		
04/2026	04/2026	7,500	1.0	7,500	JUVENILE	THURSTON CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Must be held on pathogen free water in isolation.

LAKEWOOD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	I		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	54,000	3,400
Integrated/Segregated:		Planted	39,500	34,424

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	GOLDENDALE HATCHERY	20,000		0	EGGS EYED
Received	10/2026	10/2026	EELLS SPRINGS	34,000	10.0	3,400	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
11/2026	11/2026	10,000	1.0	10,000	JUVENILE	THURSTON CO LAKES		
03/2027	05/2027	11,000	1.3	8,462	JUVENILE	KITSAP CO LAKES		
03/2027	05/2027	11,000	1.3	8,462	JUVENILE	MASON CO LAKES		
04/2027	04/2027	7,500	1.0	7,500	JUVENILE	THURSTON CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Must be held on pathogen free water in isolation.

LEONARD M JENNINGS E

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Egg Tako		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	250	0
Integrated/Segregated:		Planted	250	1

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	01/2026	TUCANNON HATCHERY	250		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	250	400.0	1	JUVENILE	ROCK LK (WHIT)		

LIBERTY LAUNCH ACADEMY (SPOK)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fag Tako		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	250	0
Integrated/Segregate	d:	Planted	250	1

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	250		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	250	250.0	1	JUVENILE	LIBERTY LK (SPOK) (57)		

LINCOLN MS(PULLMAN)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Egg Take		
Run:	NA			
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	250	0
Integrated/Segregated	:	Planted	250	3

Estimated Brood Data

Egg Ta	ke Goal
--------	---------

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	250		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	250	100.0	3	JUVENILE	GILCREST PD (WHIT)		

LK ABERDEEN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Rainbow	Egg Ta	ke	
Run:	NA	Shippi		
Stock:	SPRING CR-GOLDENDALE	Shippi	IS	
Brood Origin:	HATCHERY	Receiv	ed	
Integrated/Segregate	ed:	Plante	2,500	5,000
Estimated Brood	Data			
Egg Take Goal				
Estimated Transf	<u>er Data</u>			

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	2,500	0.5	5,000	JUVENILE	GRAYS HARBOR CO LAKES		

LK ABERDEEN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Fee Teles		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	250	50
Brood Origin:	HATCHERY	Received	20,200	2,067
Integrated/Segregated:		Planted	19,500	10,667

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or	Received	Start Date	End Date	Facility	y		Number	FPP	Total Pounds	Life Sta	ige
Received		10/2025	10/2025	EELL	S SPRINGS		20,000	10.0	2,000	JUVEN	NILE
Shipped		05/2026	05/2026	ABER	BERDEEN SD 5(ABERDE		250	5.0	50	JUVE	NILE
Received		08/2026	08/2026	ABER	ABERDEEN SD 5(ABERDE		200	3.0	67	JUVE	NILE
Estimated	Release	Data									
Start Date	End Date	e Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged
04/2026	04/2026	1'	7,000	3.0	5,667	JUVENILE	GRAYS HARBOR C	O LAKES			
04/2027	05/2027		2,500	0.5	5,000	JUVENILE	GRAYS HARBOR C	O LAKES			

LK ABERDEEN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fag Tako		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	250	50
Brood Origin:	HATCHERY	Received	20,200	2,067
Integrated/Segregated:		Planted	19,500	10,667

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or	Received	Start Date	End Date	Facilit	y		Number	FPP	Total Pounds	Life Sta	ige
Received		10/2026	10/2026	EELL	ELLS SPRINGS		20,000	10.0	2,000	JUVE	NILE
Shipped		05/2027	05/2027	ABER	DEEN SD 5(ABER	DE	250	5.0	50	JUVE	VILE
Received		08/2027	08/2027	ABER	DEEN SD 5(ABER	DE	200	3.0	67	JUVE	VILE
Estimated	Release	<u>Data</u>									
Start Date	End Date	Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged
04/2027	04/2027	17	7,000	3.0	5,667	JUVENILE	GRAYS HARBOR C	O LAKES	•		
04/2028	05/2028	2	2,500	0.5	5,000	JUVENILE	GRAYS HARBOR C	O LAKES	6		

LK ROOSEVELT NP (COL

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Egg Take		
Run:	NA			
Stock:	TROUT LODGE	Shipping		
Brood Origin:	HATCHERY	Received	510,000	34,000
Integrated/Segregated:		Planted	500,000	83,333

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	SHERMAN CR HATCHERY	60,000	15.0	4,000	JUVENILE
Received	10/2025	10/2025	SPOKANE TRIBAL HATCHERY	450,000	15.0	30,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	500,000	6.0	83,333	JUVENILE	ROOSEVELT LK (OKAN)	AD	

LK ROOSEVELT NP (COL

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fee Teles		Total Total of
Run:	NA	Egg Take		
Stock:	TROUT LODGE	Shipping		
Brood Origin:	HATCHERY	Received	510,000	34,000
Integrated/Segregated:		Planted	500,000	83,333

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2026	10/2026	SHERMAN CR HATCHERY	60,000	15.0	4,000	JUVENILE
Received	10/2026	10/2026	SPOKANE TRIBAL HATCHERY	450,000	15.0	30,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2027	05/2027	500,000	6.0	83,333	JUVENILE	ROOSEVELT LK (OKAN)	AD	

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	с т.		Total Founds
Run:	ΝΑ	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	21,250	9,517
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	110,450	46,280

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	09/2025	10/2025	IDAHO -FISH & GAME	17,600	3.0	5,867	JUVENILE
Shipped	03/2026	05/2026	NEZ PERCE TRIBAL FAC	3,650	1.0	3,650	JUVENILE

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	с т.		Total Total of
Run:	ΝΑ	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	21,250	9,517
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	110,450	46,280

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	10/2025	3,000	3.0	1,000	JUVENILE	COLUMBIA CO LAKES		
10/2025	10/2025	2,500	3.0	833	JUVENILE	WALLA WALLA CO LAKES		
10/2025	10/2025	27,000	3.0	9,000	JUVENILE	WHITMAN CO LAKES		
02/2026	03/2026	15,000	2.5	6,000	JUVENILE	ASOTIN CO LAKES		
02/2026	03/2026	500	0.7	714	JUVENILE	ASOTIN CO LAKES		
02/2026	03/2026	1,500	0.7	2,239	JUVENILE	COLUMBIA CO LAKES		
02/2026	03/2026	24,500	2.5	9,800	JUVENILE	COLUMBIA CO LAKES		
02/2026	03/2026	250	0.7	357	JUVENILE	FRANKLIN CO LAKES		
02/2026	03/2026	11,500	2.5	4,600	JUVENILE	FRANKLIN CO LAKES		
02/2026	03/2026	1,450	0.7	2,164	JUVENILE	WALLA WALLA CO LAKES		
02/2026	03/2026	18,000	2.5	7,200	JUVENILE	WALLA WALLA CO LAKES		
02/2026	03/2026	5,000	2.5	2,000	JUVENILE	WHITMAN CO LAKES		
02/2026	03/2026	250	0.7	373	JUVENILE	WHITMAN CO LAKES		

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fee Take		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	21,250	9,517
Brood Origin:	HATCHERY	Received	195,000	0
Integrated/Segregated:	SEGREGATED	Planted	110,450	46,203

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	195,000		0	EGGS EYED
Shipped	09/2026	10/2026	IDAHO -FISH & GAME	17,600	3.0	5,867	JUVENILE
Shipped	03/2027	05/2027	NEZ PERCE TRIBAL FAC	3,650	1.0	3,650	JUVENILE

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Coo Toko		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	21,250	9,517
Brood Origin:	HATCHERY	Received	195,000	0
Integrated/Segregated:	SEGREGATED	Planted	110,450	46,203

Estimated Release Data

agged

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2021				Total #	Total Pound
Species:	Rainbow			Egg Take		
Run:	NA					
Stock:	ROSS LK STOCK			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregat	ed:			Planted	550	2,200
Estimated Brood	Data			L		
Egg Take Goal						
Estimated Transf	er Data					
Shipped or Received	Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
08/2025	08/2025	550	0.3	2,200	BROODSTOCK	SKAGIT CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. 150k planted above Seattle City Light Skagit hydro-electric projects. 50k planted high lakes within Skagit drainage must be tested prior to release.

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2022				Total #	Total Pound
Species:	Rainbow			Egg Take		
Run:	NA					
Stock:	ROSS LK STOCK			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregate	ed:			Planted	550	2,200
Estimated Brood	Data			L		
Egg Take Goal						
Estimated Transf	er Data					
Shipped or Received	Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
08/2026	08/2026	550	0.3	2,200	BROODSTOCK	SKAGIT CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. 150k planted above Seattle City Light Skagit hydro-electric projects. 50k planted high lakes within Skagit drainage must be tested prior to release.

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2023				Total #	Total Pounds
Species:	Rainbow			Egg Take		
Run:	NA					
Stock:	ROSS LK STOCK			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregate	ed:			Planted	550	2,200
Estimated Brood	Data					
Egg Take Goal						
Estimated Transfe	<u>er Data</u>					
Shipped or Received	Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
08/2027	08/2027	550	0.3	2,200	BROODSTOCK	SKAGIT CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. 150k planted above Seattle City Light Skagit hydro-electric projects. 50k planted high lakes within Skagit drainage must be tested prior to release.

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2024			Total #	Total Pounds
Species:	Rainbow		Egg Take		
Run:	NA				
Stock:	ROSS LK STOCK		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregat	ted:		Planted	550	2,200
Estimated Brood	l Data				
Egg Take Goal		 			
Estimated Transf	fer Data				
		Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
08/2028	08/2028	550	0.3	2,200	BROODSTOCK	SKAGIT CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. 150k planted above Seattle City Light Skagit hydro-electric projects. 50k planted high lakes within Skagit drainage must be tested prior to release.

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2025 Desireh avus				Total #	Total Pounds
Species: Run:	Rainbow NA			Egg Take	460,000	
Stock:	ROSS LK STOCK			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregate	ed:			Planted	360,550	2,133
Estimated Brood	<u>Data</u>			L		
Egg Take Goal	460,000					
Estimated Transfe	er Data					
Shipped or Received	Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
09/2025	09/2025	245,000	1,200.0	204	JUVENILE	DIABLO LK (WHAT)		
09/2025	09/2025	115,000	1,200.0	96	JUVENILE	GORGE LK (WHAT)		
08/2029	08/2029	550	0.3	1,833	BROODSTOCK	SKAGIT CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. 150k planted above Seattle City Light Skagit hydro-electric projects. 50k planted high lakes within Skagit drainage must be tested prior to release.

MERWIN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2022			Total #	Total Pounds
Species:	Rainbow	ſ	Egg Take		
Run:	NA				
Stock:	SPRING CR-GOLDENDALE	S	Shipping		
Brood Origin:	HATCHERY	Ł	Received		
Integrated/Segregated:	SEGREGATED	ŧ	Planted	2,000	8,000
Estimated Brood Dat	<u>a</u>				
Egg Take Goal					
Estimated Transfer D	ata				
Shipped or Received St	art Date End Date Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
07/2025	07/2025	2,000	0.3	8,000	JUVENILE	LK MERWIN (27)	AD	

MERWIN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2023 Deishaw			Total #	Total Pounds
Species: Run:	Rainbow NA	-	Egg Take		
Stock:	SPRING CR-GOLDENDALE		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	7,000	15,576
Estimated Brood Data	<u>l</u>	L			
Egg Take Goal					
Estimated Transfer D	ata				
Shipped or Received Sta	rt Date End Date Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
07/2025	07/2025	5,000	0.7	7,576	JUVENILE	LK MERWIN (27)	AD	
07/2026	07/2026	2,000	0.3	8,000	JUVENILE	LK MERWIN (27)	AD	

MERWIN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Coo Toleo		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	45,000	3,750
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	12,000	16,745

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	11/2025	12/2025	SPEELYAI HATCHERY	45,000	12.0	3,750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	3,500	2.5	1,400	JUVENILE	SWIFT POWER CANAL (SKAM)	AD	
06/2026	06/2026	2,100	1.5	1,400	JUVENILE	SWIFT POWER CANAL (SKAM)	AD	
07/2026	07/2026	3,000	0.7	4,545	JUVENILE	LK MERWIN (27)	AD	
07/2026	07/2026	1,400	1.0	1,400	JUVENILE	SWIFT POWER CANAL (SKAM)	AD	
07/2027	07/2027	2,000	0.3	8,000	JUVENILE	LK MERWIN (27)	AD	

MERWIN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	45,000	3,750
Brood Origin:	HATCHERY	Received	75,000	0
Integrated/Segregated:	SEGREGATED	Planted	12,000	16,745

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	GOLDENDALE HATCHERY	75,000		0	EGGS EYED
Shipped	11/2026	12/2026	SPEELYAI HATCHERY	45,000	12.0	3,750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	3,500	2.5	1,400	JUVENILE	SWIFT POWER CANAL (SKAM)	AD	
06/2027	06/2027	2,100	1.5	1,400	JUVENILE	SWIFT POWER CANAL (SKAM)	AD	
07/2027	07/2027	3,000	0.7	4,545	JUVENILE	LK MERWIN (27)	AD	
07/2027	07/2027	1,400	1.0	1,400	JUVENILE	SWIFT POWER CANAL (SKAM)	AD	
07/2029	07/2029	2,000	0.3	8,000	JUVENILE	LK MERWIN (27)	AD	

MESEBERG HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTH CENTRAL WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Faa Taka		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	2,004	804
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	4,150	4,150

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2026	01/2026	TRI-CITY SPORTSMAN SHOW	2,000	2.5	800	JUVENILE
Shipped	01/2026	01/2026	TRI-CITY SPORTSMAN SHOW	4	1.0	4	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	650	1.0	650	JUVENILE	FRANKLIN CO LAKES		
04/2026	05/2026	3,500	1.0	3,500	JUVENILE	BENTON CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Warmwater forage.

MESEBERG HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fee Tales		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	300,000	375
Integrated/Segregated:		Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stag	je
Received	12/2025	12/2025	COLU	MBIA BASIN HAT	CHERY	200,000	800.0	250	JUVEN	ILE
Received	12/2025	01/2026	NACH	ES HATCHERY		100,000	800.0	125	JUVEN	ILE
Estimated Release		ماوعدو	FPP	Total Pounds	Life Stage	Release Site		Mark	Гупе	Tagged

Memo: Program implementation is dependent on legal authority and funding. Warmwater Forage. Excess fish will be planted into Powerline Pond.

MESEBERG HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Faa Taka		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	2,004	804
Brood Origin:	HATCHERY	Received	115,000	0
Integrated/Segregated:		Planted	4,170	4,211

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or	Received	Start Date	End Date	Facility	y		Number	FPP	Total Pounds	Life St	age
Received		12/2025	12/2025	SPOK	ANE HATCHERY		115,000		0	EGGS	EYED
Shipped		01/2027	01/2027	TRI-C	TTY SPORTSMAN	SHOW	2,000	2.5	800	JUVE	NILE
Shipped		01/2027	01/2027	TRI-C	TTY SPORTSMAN	SHOW	4	1.0	4	JUVE	NILE
Estimated	Release	<u>Data</u>									
Start Date	End Date	Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged
05/2027	05/2027		3,500	1.0	3,500	JUVENILE	BENTON CO LAKES				
05/2027	05/2027		20	0.3	61	JUVENILE	BENTON CO LAKES				
05/2027	05/2027		650	1.0	650	JUVENILE	FRANKLIN CO LAKE	S			

Memo: Program implementation is dependent on legal authority and funding. Warmwater forage.

MOSSYROCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2023 Deire bau			Total #	Total Pounds
Species: Run:	Rainbow NA	Egg	g Take		
Stock:	SPRING CR-GOLDENDALE	Shi	pping		
Brood Origin:	HATCHERY	Red	ceived		
Integrated/Segregat	ed:	Pla	nted	6,000	7,500
Estimated Brood	Data			1	
Egg Take Goal					
Estimated Transf	er Data				
Shipped or Received	Start Date End Date Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	10/2025	3,000	0.8	3,750	JUVENILE	COWLITZ CO LAKES		
10/2025	10/2025	3,000	0.8	3,750	JUVENILE	LEWIS CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. 4,500 Fish used for Regional Derbies at 2.5 fpp.

MOSSYROCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024				Total #	Total Pounds
Species: Run:	Brown Trout NA			Egg Take		
Stock:	FORD STOCK			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregat	ted:			Planted	12,000	4,800
Estimated Brood	l Data					
Egg Take Goal						
Estimated Transf	fer Data					
Shipped or Received	d Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	6,000	2.5	2,400	JUVENILE	COWLITZ CO LAKES		
09/2026	09/2026	6,000	2.5	2,400	JUVENILE	LEWIS CO LAKES		

MOSSYROCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Fee Take		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	4,868	541
Brood Origin:	HATCHERY	Received		
Integrated/Segregat	ed:	Planted	186,143	44,558
Estimated Brood	Data			
Egg Take Goal				

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2026	01/2026	ONALASKA HS(ONALASK	4,868	9.0	541	JUVENILE

Memo: Program implementation is dependent on legal authority and funding. 4,500 Fish used for Regional Derbies at 2.5 fpp.

MOSSYROCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	4,868	541
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	186,143	44,558

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
09/2025	09/2025	100,000	20.0	5,000	JUVENILE	LEWIS CO LAKES	AD	
04/2026	04/2026	10,799	2.5	4,320	JUVENILE	COWLITZ CO LAKES		
04/2026	04/2026	25,094	2.5	10,038	JUVENILE	LEWIS CO LAKES		
04/2026	04/2026	9,125	2.5	3,650	JUVENILE	MINERAL LK (LEWI)		
04/2026	04/2026	26,000	2.5	10,400	JUVENILE	THURSTON CO LAKES		
07/2026	07/2026	9,125	2.5	3,650	JUVENILE	CLEAR LK (YAKI)		
10/2026	10/2026	3,000	0.8	3,750	JUVENILE	COWLITZ CO LAKES		
10/2026	10/2026	3,000	0.8	3,750	JUVENILE	LEWIS CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. 4,500 Fish used for Regional Derbies at 2.5 fpp.

MOSSYROCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Species: Brown Trout Run: NA	Brood Year:	2025		Total #	Total Pounds
KUN: NA	Species:	Brown Trout			
Stock: FORD STOCK Shipping	Run:	NA	Едд Таке		
	Stock:	FORD STOCK	Shipping		
Brood Origin: HATCHERY Received 17,500 0	Brood Origin:	HATCHERY	Received	17,500	0
Integrated/Segregated: Planted 12,000 4,800	Integrated/Segregated:		Planted	12,000	4,800

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2025	11/2025	FORD HATCHERY	17,500		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	05/2027	6,000	2.5	2,400	JUVENILE	COWLITZ CO LAKES		
09/2027	09/2027	6,000	2.5	2,400	JUVENILE	LEWIS CO LAKES		

MOSSYROCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fee Teles		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	4,868	541
Brood Origin:	HATCHERY	Received	250,000	0
Integrated/Segregated:		Planted	186,143	44,558

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2025	11/2025	GOLDENDALE HATCHERY	250,000		0	EGGS EYED
Shipped	01/2027	01/2027	ONALASKA HS(ONALASK	4,868	9.0	541	JUVENILE

Memo: Program implementation is dependent on legal authority and funding. 4,500 Fish used for Regional Derbies at 2.5 fpp.

MOSSYROCK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	c . Ŧ 1		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	4,868	541
Brood Origin:	HATCHERY	Received	250,000	0
Integrated/Segregated:		Planted	186,143	44,558

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
09/2026	09/2026	100,000	20.0	5,000	JUVENILE	LEWIS CO LAKES	AD	
04/2027	04/2027	10,799	2.5	4,320	JUVENILE	COWLITZ CO LAKES		
04/2027	04/2027	25,094	2.5	10,038	JUVENILE	LEWIS CO LAKES		
04/2027	04/2027	9,125	2.5	3,650	JUVENILE	MINERAL LK (LEWI)		
04/2027	04/2027	26,000	2.5	10,400	JUVENILE	THURSTON CO LAKES		
07/2027	07/2027	9,125	2.5	3,650	JUVENILE	CLEAR LK (YAKI)		
10/2027	10/2027	3,000	0.8	3,750	JUVENILE	COWLITZ CO LAKES		
10/2027	10/2027	3,000	0.8	3,750	JUVENILE	LEWIS CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. 4,500 Fish used for Regional Derbies at 2.5 fpp.

NACHES HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTH CENTRAL WASHINGTON

Brood Year:	2023		Total #	Total Pounds
Species:	Rainbow	Egg T	ako	
Run:	NA	Egg I	ake	
Stock:	SPRING CR-GOLDENDALE	Shipp	ing	
Brood Origin:	HATCHERY	Recei	ved	
Integrated/Segregat	ed:	Plant	ed 7,200	6,200
Estimated Brood	Data		,	
Egg Take Goal				
Estimated Transf	er Data			
Shipped or Received	Start Date End Date Facility	Number	FPP Total Pound	s Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	11/2025	2,000	2.0	1,000	JUVENILE	YAKIMA CO LAKES		
03/2026	05/2026	700	1.0	700	JUVENILE	BENTON CO LAKES		
03/2026	05/2026	2,000	1.0	2,000	JUVENILE	KITTITAS CO LAKES		
03/2026	05/2026	2,500	1.0	2,500	JUVENILE	YAKIMA CO LAKES		

NACHES HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTH CENTRAL WASHINGTON

Brood Year: Species:	2024 Rainbow		Total #	Total Pounds
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	103,200	45,366
Estimated Brood Data Egg Take Goal				
Estimated Transfer Da	ta			

NACHES HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTH CENTRAL WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Fag Taka		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	103,200	45,366

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
02/2026	02/2026	6,000	2.5	2,400	JUVENILE	BENTON CO LAKES		
02/2026	02/2026	20,000	2.5	8,000	JUVENILE	KITTITAS CO LAKES		
02/2026	02/2026	24,000	2.5	9,600	JUVENILE	YAKIMA CO LAKES		
05/2026	05/2026	20,000	2.4	8,333	JUVENILE	KITTITAS CO LAKES		
05/2026	05/2026	26,000	2.4	10,833	JUVENILE	YAKIMA CO LAKES		
11/2026	11/2026	2,000	2.0	1,000	JUVENILE	YAKIMA CO LAKES		
03/2027	05/2027	700	1.0	700	JUVENILE	BENTON CO LAKES		
03/2027	05/2027	2,000	1.0	2,000	JUVENILE	KITTITAS CO LAKES		
03/2027	05/2027	2,500	1.0	2,500	JUVENILE	YAKIMA CO LAKES		

NACHES HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTH CENTRAL WASHINGTON

Brood Year:	2024				Total #	Total Pounds
Species:	Tiger Trout			Egg Take		
Run:	NA					
Stock:	FORD STOCK			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregat	ed:			Planted	1,800	180
Estimated Brood	Data					
Egg Take Goal						
Estimated Transf	er Data					
Shipped or Received	Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
09/2025	09/2025	1,800	10.0	180	JUVENILE	YAKIMA CO LAKES		

NACHES HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fee Tele		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	100,000	125
Brood Origin:	HATCHERY	Received	350,000	0
Integrated/Segregated:		Planted	168,200	58,566

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	11/2025	GOLDENDALE HATCHERY	150,000		0	EGGS EYED
Received	11/2025	12/2025	GOLDENDALE HATCHERY	200,000		0	EGGS EYED
Shipped	12/2025	01/2026	MESEBERG HATCHERY	100,000	800.0	125	JUVENILE

NACHES HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fee Teles		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	100,000	125
Brood Origin:	HATCHERY	Received	350,000	0
Integrated/Segregated:		Planted	168,200	58,566

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	30,000	50.0	600	JUVENILE	KITTITAS CO LAKES		
05/2026	05/2026	5,000	50.0	100	JUVENILE	YAKIMA CO LAKES		
02/2027	03/2027	6,000	2.5	2,400	JUVENILE	BENTON CO LAKES		
02/2027	03/2027	20,000	2.5	8,000	JUVENILE	KITTITAS CO LAKES		
02/2027	03/2027	24,000	2.5	9,600	JUVENILE	YAKIMA CO LAKES		
05/2027	06/2027	20,000	2.4	8,333	JUVENILE	KITTITAS CO LAKES		
05/2027	06/2027	26,000	2.4	10,833	JUVENILE	YAKIMA CO LAKES		
05/2027	06/2027	30,000	2.4	12,500	JUVENILE	YAKIMA CO LAKES		
11/2027	11/2027	2,000	2.0	1,000	JUVENILE	YAKIMA CO LAKES		
03/2028	05/2028	700	1.0	700	JUVENILE	BENTON CO LAKES		
03/2028	05/2028	2,000	1.0	2,000	JUVENILE	KITTITAS CO LAKES		
03/2028	05/2028	2,500	1.0	2,500	JUVENILE	YAKIMA CO LAKES		

NACHES HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Tiger Trout	Egg Tako		
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	2,000	20
Integrated/Segregated	:	Planted	1,800	180

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	05/2026	05/2026	COLUMBIA BASIN HATCHERY	2,000	100.0	20	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
09/2026	09/2026	1,800	10.0	180	JUVENILE	YAKIMA CO LAKES		

NACHES HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTH CENTRAL WASHINGTON

Brood Year:	2026		Total #	Total Pounds
Species:	Rainbow	Fag Taka		
Run:	NA	Egg Take		
Stock:	CALIF-MT WHITNEY	Shipping		
Brood Origin:	HATCHERY	Received	15,000	0
Integrated/Segregated:		Planted	10,000	20

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2026	03/2026	EELLS SPRINGS	15,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
08/2026	08/2026	5,000	500.0	10	JUVENILE	KITTITAS CO LAKES		
08/2026	08/2026	5,000	500.0	10	JUVENILE	YAKIMA CO LAKES		

NEMAH HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023 Deishawa		Total #	Total Pounds
Species:	Rainbow	Egg	Take	
Run:	NA			
Stock:	SPRING CR-GOLDENDALE	Ship	ping	
Brood Origin:	HATCHERY	Rece	eived	
Integrated/Segregate	:d:	Plan	ted 150	500
Estimated Brood	<u>Data</u>			
Egg Take Goal				
Estimated Transfe	er Data			
Shipped or Received	Start Date End Date Facility	Number	FPP Total Pounds	s Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	06/2026	150	0.3	500	JUVENILE	PACIFIC CO LAKES		

NEMAH HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	ΝΑ	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	25,000	2,500
Integrated/Segregated:		Planted	24,150	13,300

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2025	11/2025	EELLS SPRINGS	25,000	10.0	2,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2026	05/2026	22,000	2.5	8,800	JUVENILE	PACIFIC CO LAKES		
10/2026	10/2026	2,000	0.5	4,000	JUVENILE	PACIFIC CO LAKES		
04/2027	06/2027	150	0.3	500	JUVENILE	PACIFIC CO LAKES		

NEMAH HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	I		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	25,000	2,500
Integrated/Segregated:		Planted	24,150	13,740

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2026	10/2026	EELLS SPRINGS	25,000	10.0	2,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2027	05/2027	21,850	2.5	8,740	JUVENILE	PACIFIC CO LAKES		
10/2027	10/2027	2,000	0.5	4,000	JUVENILE	PACIFIC CO LAKES		
04/2028	06/2028	300	0.3	1,000	JUVENILE	PACIFIC CO LAKES		

OFFUTT LK NP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	10,000	2,500
Integrated/Segregate	ed:	Planted	10,000	4,000
Estimated Brood	Data			I

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	EELLS SPRINGS	10,000	4.0	2,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	10,000	2.5	4,000	JUVENILE	OFFUTT LK (THUR)		

OFFUTT LK NP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	10,000	2,500
Integrated/Segregate	d:	Planted	10,000	4,000
Estimated Brood I	Data			

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2026	10/2026	EELLS SPRINGS	10,000	4.0	2,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	10,000	2.5	4,000	JUVENILE	OFFUTT LK (THUR)		

OMAK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH CENTRAL WASHINGTON

Brood Year:	2024 Tigor Trout				Total #	Total Pounds
Species: Run:	Tiger Trout NA			Egg Take		
Stock:	FORD STOCK			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregate	ed:			Planted	5,000	2,000
Estimated Brood	<u>Data</u>			L		
Egg Take Goal						
Estimated Transf	er Data					
Shipped or Received	Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2026	03/2026	5,000	2.5	2,000	JUVENILE	SPECTACLE LK (OKAN)		

OMAK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Egg Tako		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	100	0
Brood Origin:	HATCHERY	Received	66,000	0
Integrated/Segregated:		Planted	60,000	923

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	01/2026	SPOKANE HATCHERY	66,000		0	EGGS EYED
Shipped	01/2026	01/2026	VIRGINIA GRAINGER ELEMENTARY SCHOO	100		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	60,000	65.0	923	JUVENILE	OKANOGAN CO LAKES		

OMAK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Tiger Trout			
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	10,000	100
Integrated/Segregate	d:	Planted	5,000	2,000
			1	

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2026	06/2026	FORD HATCHERY	10,000	100.0	100	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2027	03/2027	5,000	2.5	2,000	JUVENILE	SPECTACLE LK (OKAN)		

ONALASKA HS(ONALASK

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

	Total #	Total Pounds
Egg Take		
Shipping		
Received	4,868	541
Planted	4,868	2,434
	Received	Shipping Received 4,868

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	01/2026	MOSSYROCK HATCHERY	4,868	9.0	541	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	4,868	2.0	2,434	JUVENILE	CARLISLE LK (LEWI)		

ONALASKA HS(ONALASK

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTHWEST WASHINGTON / LOWER COL

	Total #	Total Pounds
Egg	ake	
E Ship	ping	
Rece	ived 4,868	541
Plant	ed 4,868	2,434
	E Shipi Rece	Received 4,868

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2027	01/2027	MOSSYROCK HATCHERY	4,868	9.0	541	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	4,868	2.0	2,434	JUVENILE	CARLISLE LK (LEWI)		

ORCHARD CENTER ES(SP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Egg Take		
Run:	NA			
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	150	0
Integrated/Segregated:		Planted	125	1

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	150		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	125	250.0	1	JUVENILE	LIBERTY LK (SPOK) (57)		

ORIENT SD 065(ORIENT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Egg Tako		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	250	0
Integrated/Segregated:		Planted	225	2

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	250		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	225	100.0	2	JUVENILE	PIERRE LK (STEV)		

Memo: Program implementation is dependent on legal authority and funding. Every three years.

PUGET SOUND ESD(SEAT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year:	2025		Total #	Total Pounds
Species: Run:	Rainbow NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	200	100
Integrated/Segregated:	SEGREGATED	Planted		
Estimated Brood Data	<u>1</u>			
Egg Take Goal				

Estimated Transfer Data

Received 08/2025 08/2025 BAKER LK HATCHERY 200 2.0	hipped or Recei	ved Start Da	te End Date	Facilit	у		Number	FPP	Total Pounds	Life Stag	<i>j</i> e
Ectimated Palaaca Data	Received	08/2025	08/2025	BAKI	ER LK HATCHERY		200	2.0	100	JUVEN	ILE
Ectimated Palaasa Data											
Estimated Release Data	stimated Rel	ease Data									
Start Date End Date Num Release FPP Total Pounds Life Stage Release Site	tart Date En	l Date Nur	n Release	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged

Memo: Program implementation is dependent on legal authority and funding. Fish provided for kids fishing derby.

PUYALLUP HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	119,375	14,605
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	187,500	75,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or F	Received	Start Date	End Date	Facility	y		Number	FPP	Total Pounds	Life Sta	ige
Shipped		10/2025	10/2025	RAIN	BOW RESORT NP		15,625	10.0	1,563	JUVEN	VILE
Shipped		10/2025	10/2025	SILVI	ER LK RESORT NP	,	18,750	10.0	1,875	JUVEN	JILE
Shipped		11/2025	11/2025	CHAM	MBERS CR HATCH	IERY	45,000	10.0	4,500	JUVEN	JILE
Shipped		11/2025	12/2025	ARLI	NGTON HATCHER	XY	40,000	6.0	6,667	JUVEN	JILE
Estimated	Release	Data									
Start Date	End Date	e Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged
03/2026	03/2026	10	0,000	2.5	40,000	JUVENILE	PIERCE CO LAKES				
03/2026	03/2026	15	5,000	2.5	6,000	JUVENILE	THURSTON CO LAK	ES			
03/2026	04/2026	62	2,500	2.5	25,000	JUVENILE	KING CO LAKES				
04/2026	06/2026	10	0,000	2.5	4,000	JUVENILE	KING CO LAKES				

PUYALLUP HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fee Telve		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	99,375	11,271
Brood Origin:	HATCHERY	Received	575,000	0
Integrated/Segregated:		Planted	207,500	83,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2025	01/2026	GOLDENDALE HATCHERY	575,000		0	EGGS EYED
Shipped	10/2026	10/2026	RAINBOW RESORT NP	15,625	10.0	1,563	JUVENILE
Shipped	10/2026	10/2026	SILVER LK RESORT NP	18,750	10.0	1,875	JUVENILE
Shipped	11/2026	11/2026	CHAMBERS CR HATCHERY	45,000	10.0	4,500	JUVENILE
Shipped	11/2026	01/2027	ARLINGTON HATCHERY	20,000	6.0	3,333	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2027	03/2027	100,000	2.5	40,000	JUVENILE	PIERCE CO LAKES		
03/2027	03/2027	15,000	2.5	6,000	JUVENILE	THURSTON CO LAKES		
03/2027	04/2027	62,500	2.5	25,000	JUVENILE	KING CO LAKES		
04/2027	06/2027	30,000	2.5	12,000	JUVENILE	KING CO LAKES		

RAINBOW RESORT NP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	15,625	1,563
Integrated/Segregat	ed:	Planted	15,625	6,250

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	PUYALLUP HATCHERY	15,625	10.0	1,563	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	15,625	2.5	6,250	JUVENILE	TANWAX LK (PIER)		

RAINBOW RESORT NP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	15,625	1,563
Integrated/Segregat	ed:	Planted	15,625	6,250

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2026	10/2026	PUYALLUP HATCHERY	15,625	10.0	1,563	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	15,625	2.5	6,250	JUVENILE	TANWAX LK (PIER)		

ROCK LAKE CONSERVATION DISTRICT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Egg Take		
Run:	NA			
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	1,250	0
Integrated/Segregated:		Planted	1,250	5

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	1,250		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	500	250.0	2	JUVENILE	GARFIELD PD (WHIT)		
04/2026	04/2026	500	250.0	2	JUVENILE	PALOUSE R 34.0003		
04/2026	04/2026	250	250.0	1	JUVENILE	ROCK LK (WHIT)		

SATSOP SPRINGS PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023 Deinhaus		Total #	Total Pounds
Species: Run:	Rainbow NA	Egg Ta		
Stock:	SPRING CR-GOLDENDALE	Shippi	ng	
Brood Origin:	HATCHERY	Receiv	ed	
Integrated/Segregat	ted:	Plante	d 6,050	24,200
Estimated Brood	Data			
Egg Take Goal				
Estimated Trans	fer Data			
Shipped or Received	d Start Date End Date Facility	Number F	PP Total Pound	s Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	4,000	0.3	16,000	JUVENILE	GRAYS HARBOR CO LAKES		
04/2026	04/2026	2,000	0.3	8,000	JUVENILE	MASON CO LAKES		
04/2026	04/2026	50	0.3	200	JUVENILE	NOEL COLE PD 23.0882		

SATSOP SPRINGS PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	7,000	2,800
Integrated/Segregate	ed:	Planted	6,050	24,200

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2026	06/2026	EELLS SPRINGS	7,000	2.5	2,800	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	4,000	0.3	16,000	JUVENILE	GRAYS HARBOR CO LAKES		
04/2027	04/2027	2,000	0.3	8,000	JUVENILE	MASON CO LAKES		
04/2027	04/2027	50	0.3	200	JUVENILE	NOEL COLE PD 23.0882		

SATSOP SPRINGS PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

Species:RainbowEgg TakeEgg TakeRun:NAShippingFStock:SPRING CR-GOLDENDALEShippingFBrood Origin:HATCHERYReceived7,0002,800	Brood Year:	2025		Total #	Total Pounds
Run:NAStock:SPRING CR-GOLDENDALEShippingBrood Origin:HATCHERYReceived7,0002,800	Species:	Rainbow			
Brood Origin:HATCHERYReceived7,0002,800	Run:	NA	Egg Take		
	Stock:	SPRING CR-GOLDENDALE	Shipping		
	Brood Origin:	HATCHERY	Received	7,000	2,800
Integrated/Segregated: Planted 6,050 24,200	Integrated/Segregated	:	Planted	6,050	24,200

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2027	06/2027	EELLS SPRINGS	7,000	2.5	2,800	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2028	04/2028	4,000	0.3	16,000	JUVENILE	GRAYS HARBOR CO LAKES		
04/2028	04/2028	2,000	0.3	8,000	JUVENILE	MASON CO LAKES		
04/2028	04/2028	50	0.3	200	JUVENILE	NOEL COLE PD 23.0882		

SEA RESOURCES HATCH

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	500	50
Integrated/Segregated	:	Planted	300	909
Estimated Brood D	ata			

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	EELLS SPRINGS	500	10.0	50	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	300	0.3	909	JUVENILE	BLACK LK (PACI)		

SEA RESOURCES HATCH

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	500	50
Integrated/Segregat	ed:	Planted	300	909
	D :			
Estimated Brood	Data			

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2026	10/2026	EELLS SPRINGS	500	10.0	50	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2028	04/2028	300	0.3	909	JUVENILE	BLACK LK (PACI)		

SHERMAN CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024 Rainbow				Total #	Total Pounds
Species: Run:	NA			Egg Take		
Stock:	TROUT LODGE			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregate	ed:			Planted	95,000	15,833
Estimated Brood	Data			L		
Egg Take Goal						
Estimated Transf	er Data					
Shipped or Received	Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	06/2026	95,000	6.0	15,833	JUVENILE	ROOSEVELT LK (OKAN)		

SHERMAN CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024	Γ		Total #	Total Pounds
Species:	Rainbow	-	Fee Teles		
Run:	NA		Egg Take		
Stock:	SPOKANE HATCHERY	:	Shipping	60,000	4,000
Brood Origin:	HATCHERY		Received		
Integrated/Segregated	:		Planted	225,000	37,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2025	10/2025	LK ROOSEVELT NP (COL	60,000	15.0	4,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	06/2026	225,000	6.0	37,500	JUVENILE	ROOSEVELT LK (OKAN)	AD	

Memo: Program implementation is dependent on legal authority and funding. Triploids. May backfill with Trout Lodge stock.

SHERMAN CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Egg Take		
Run:	NA			
Stock:	TROUT LODGE	Shipping		
Brood Origin:	HATCHERY	Received	100,000	1,667
Integrated/Segregated		Planted	95,000	15,833

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2026	06/2026	SPOKANE TRIBAL HATCHERY	100,000	60.0	1,667	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2027	06/2027	95,000	6.0	15,833	JUVENILE	ROOSEVELT LK (OKAN)	AD	

SHERMAN CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Can Taka		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	60,000	4,000
Brood Origin:	HATCHERY	Received	230,000	4,833
Integrated/Segregated:		Planted	125,000	20,833

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or	Received	Start Date	End Date	Facility	/		Number	FPP	Total Pounds	Life St	age
Received		06/2026	06/2026	FORD	HATCHERY		200,000	60.0	3,333	JUVE	NILE
Received		10/2026	10/2026	FORD	HATCHERY		30,000	20.0	1,500	JUVE	NILE
Shipped		10/2026	10/2026	LK RO	DOSEVELT NP (CC	DL	60,000	15.0	4,000	JUVE	NILE
Estimated	Release	<u>Data</u>									
Start Date	End Date	Num Re	elease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged
05/2027	06/2027	12	5,000	6.0	20,833	JUVENILE	ROOSEVELT LK (O	KAN)	AD		

Memo: Program implementation is dependent on legal authority and funding. Triploids. May backfill with Trout Lodge stock.

SILVER LK RESORT NP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	18,750	1,875
Integrated/Segregate	ed:	Planted	18,750	7,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	PUYALLUP HATCHERY	18,750	10.0	1,875	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	18,750	2.5	7,500	JUVENILE	SILVER LK (PIER)		

Memo: Program implementation is dependent on legal authority and funding. Funded by resort.

SILVER LK RESORT NP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	18,750	1,875
Integrated/Segregate	ed:	Planted	18,750	7,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2026	10/2026	PUYALLUP HATCHERY	18,750	10.0	1,875	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	18,750	2.5	7,500	JUVENILE	SILVER LK (PIER)		

Memo: Program implementation is dependent on legal authority and funding. Funded by resort.

SOLDUC HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023					Total #	Total Pounds
Species:	Rainbow	v			Egg Take		
Run:	NA						
Stock:	SPRING	CR-GOLDENDA	LE		Shipping	300	1,500
Brood Origin:	HATCHE	RY			Received		
Integrated/Segregate	d:				Planted		
Estimated Brood I	<u>Data</u>				L		
Egg Take Goal							
Estimated Transfe	Data						
Estimated Hallsle	er Data						
	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped or Received		End Date 04/2026	Facility BOGACHIEL HATCHERY	Number 300	FPP 0.2	Total Pounds 1,500	Life Stage
Shipped or Received	Start Date		-				
Shipped or Received	Start Date 04/2026		-				

Start Date End Date Num Release FPP Total Pounds Life Stage Release Site Mark Type Tagged	Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
---	------------	----------	-------------	-----	--------------	------------	--------------	-----------	--------

Memo: Program implementation is dependent on legal authority and funding. Kids fishing derby - Westend Sportsman Club Project. Held on Pathogen Free Water.

SOLDUC HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	C T-l -		
Run:	ΝΑ	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	3,700	4,900
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	4,900	5,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	04/2026	04/2026	BOGACHIEL HATCHERY	3,400	1.0	3,400	JUVENILE
Shipped	04/2027	04/2027	BOGACHIEL HATCHERY	300	0.2	1,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2026	04/2026	3,000	2.0	1,500	JUVENILE	WENTWORTH LK (CLAL)		
04/2026	04/2026	1,500	1.0	1,500	JUVENILE	LINCOLN PRK PD (CLAL)		
03/2027	03/2027	350	0.2	1,750	JUVENILE	WENTWORTH LK (CLAL)		
04/2027	04/2027	50	0.2	250	JUVENILE	LINCOLN PRK PD (CLAL)		

Memo: Program implementation is dependent on legal authority and funding. Kids fishing derby - Westend Sportsman Club Project. Held on Pathogen Free Water.

SOLDUC HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Faa Taka		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	3,700	4,900
Brood Origin:	HATCHERY	Received	9,000	450
Integrated/Segregated:		Planted	4,900	5,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or	Received	Start Date	End Date	Facility	y		Number	FPP	Total Pounds	Life St	age
Received		10/2026	12/2026	EELL	S SPRINGS		9,000	20.0	450	JUVE	NILE
Shipped		04/2027	04/2027	BOGA	ACHIEL HATCHER	Y	3,400	1.0	3,400	JUVE	NILE
Shipped		04/2028	04/2028	BOGA	ACHIEL HATCHER	Y	300	0.2	1,500	JUVE	NILE
Estimated	Release	<u>Data</u>									
Start Date	End Date	Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре	Tagged
03/2027	04/2027	3	5,000	2.0	1,500	JUVENILE	WENTWORTH LK (CLAL)			
04/2027	04/2027	1	,500	1.0	1,500	JUVENILE	LINCOLN PRK PD (CLAL)			
03/2028	03/2028		350	0.2	1,750	JUVENILE	WENTWORTH LK (CLAL)			
04/2028	04/2028		50	0.2	250	JUVENILE	LINCOLN PRK PD (CLAL)			

Memo: Program implementation is dependent on legal authority and funding. Kids fishing derby - Westend Sportsman Club Project. Held on Pathogen Free Water.

SPEELYAI HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	45,000	3,750
Integrated/Segregated:	SEGREGATED	Planted	39,500	15,800

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2025	12/2025	MERWIN HATCHERY	45,000	12.0	3,750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	3,500	2.5	1,400	JUVENILE	SWIFT POWER CANAL (SKAM)	AD	
05/2026	05/2026	36,000	2.5	14,400	JUVENILE	SWIFT RES (SKAM)	AD	

SPEELYAI HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	45,000	3,750
Integrated/Segregated:	SEGREGATED	Planted	39,500	15,800

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2026	12/2026	MERWIN HATCHERY	45,000	12.0	3,750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2027	05/2027	3,500	2.5	1,400	JUVENILE	SWIFT POWER CANAL (SKAM)	AD	
05/2027	05/2027	36,000	2.5	14,400	JUVENILE	SWIFT RES (SKAM)	AD	

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Shipped or Received	Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage
Estimated Transfer	<u>· Data</u>					
Egg Take Goal						
Estimated Brood D	ata					
Integrated/Segregated	:			Planted	6,000	20,001
Brood Origin:	HATCHERY			Received		
Stock:	SPOKANE HATCHERY			Shipping		
Run:	NA			Egg Take		
Species:	Rainbow				Total #	Total Pounds
Brood Year:	2022					

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2026	03/2026	1,500	0.3	5,000	BROODSTOCK	LINCOLN CO LAKES		
03/2026	03/2026	500	0.3	1,667	BROODSTOCK	PEND OREILLE CO LAKES		
03/2026	03/2026	2,000	0.3	6,667	BROODSTOCK	SPOKANE CO LAKES		
03/2026	03/2026	2,000	0.3	6,667	BROODSTOCK	STEVENS CO LAKES		

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Shipped or Received	Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage
Estimated Transfe	r Data					
Egg Take Goal						
Estimated Brood D	Data					
Integrated/Segregated	d:			Planted	6,000	20,001
Brood Origin:	HATCHERY			Received		
Stock:	SPOKANE HATCHERY			Shipping		
Run:	NA			Egg Take		
Species:	Rainbow				Total #	Total Pounds
Brood Year:	2023					

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2027	03/2027	1,500	0.3	5,000	BROODSTOCK	LINCOLN CO LAKES		
03/2027	03/2027	500	0.3	1,667	BROODSTOCK	PEND OREILLE CO LAKES		
03/2027	03/2027	2,000	0.3	6,667	BROODSTOCK	SPOKANE CO LAKES		
03/2027	03/2027	2,000	0.3	6,667	BROODSTOCK	STEVENS CO LAKES		

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Brown Trout			
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping	26,600	1,645
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	291,000	24,150

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2025	10/2025	WAITTS LK NET PENS	24,500	20.0	1,225	JUVENILE
Shipped	04/2026	04/2026	FORD HATCHERY	2,100	5.0	420	JUVENILE

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Brown Trout	Coo Toko		
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping	26,600	1,645
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	291,000	24,150

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	10/2025	186,000	20.0	9,300	JUVENILE	SPOKANE CO LAKES		
10/2025	10/2025	6,000	20.0	300	JUVENILE	STEVENS CO LAKES		
10/2025	10/2025	35,000	20.0	1,750	JUVENILE	WHITMAN CO LAKES		
03/2026	04/2026	1,000	5.0	200	JUVENILE	LINCOLN CO LAKES		
03/2026	04/2026	14,000	5.0	2,800	JUVENILE	PEND OREILLE CO LAKES		
03/2026	04/2026	24,000	5.0	4,800	JUVENILE	SPOKANE CO LAKES		
03/2026	04/2026	10,000	5.0	2,000	JUVENILE	STEVENS CO LAKES		
03/2026	04/2026	15,000	5.0	3,000	JUVENILE	WHITMAN CO LAKES		

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Eastern Brook Trout	с т.		
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping	15,000	750
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage	2
Shipped	10/2025	10/2025	DEER L	K NET PENS		15,000	20.0	750	JUVENII	LE
Estimated Release	e Data									
Start Date End Da	te Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре	Tagged

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Eastern Brook Trout			Total Total of
Run:	NA	Egg Take		
Stock:	IDAHO- GENERAL STOCK	Shipping	2,000	167
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	08/2025	08/2025	CARSON NFH	2,000	12.0	167	JUVENILE

Estimated Release Data

Start Date Enu Date Muth Release FFF Total Founds Life Stage Release Site Mark Type Taggeu	Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
--	------------	----------	-------------	-----	--------------	------------	--------------	-----------	--------

Memo: Program implementation is dependent on legal authority and funding. YY Eastern Brook Trout.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Fag Taka		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	75,000	3,750
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	290,000	64,801

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2025	10/2025	DEER LK NET PENS	45,000	20.0	2,250	JUVENILE
Shipped	10/2025	10/2025	WAITTS LK NET PENS	30,000	20.0	1,500	JUVENILE

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Egg Tako		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	75,000	3,750
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	290,000	64,801

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	10/2025	10,000	10.0	1,000	JUVENILE	PEND OREILLE CO LAKES		
10/2025	10/2025	59,000	10.0	5,900	JUVENILE	SPOKANE CO LAKES		
10/2025	10/2025	20,000	20.0	1,000	JUVENILE	WHITMAN CO LAKES		
10/2025	10/2025	20,000	10.0	2,000	JUVENILE	WHITMAN CO LAKES		
10/2025	11/2025	66,000	20.0	3,300	JUVENILE	FERRY CO LAKES		
10/2025	11/2025	40,000	10.0	4,000	JUVENILE	FERRY CO LAKES		
03/2026	04/2026	52,000	2.5	20,800	JUVENILE	SPOKANE CO LAKES		
03/2026	04/2026	17,000	2.5	6,800	JUVENILE	STEVENS CO LAKES		
03/2028	03/2028	1,500	0.3	5,000	BROODSTOCK	LINCOLN CO LAKES		
03/2028	03/2028	500	0.3	1,667	BROODSTOCK	PEND OREILLE CO LAKES		
03/2028	03/2028	2,000	0.3	6,667	BROODSTOCK	SPOKANE CO LAKES		
03/2028	03/2028	2,000	0.3	6,667	BROODSTOCK	STEVENS CO LAKES		

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: Species:	2024 Tiger Trout				Total #	Total Pounds
Run:	NA			Egg Take		
Stock:	FORD STOCK			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregat	ted:			Planted	56,000	2,800
Estimated Brood	Data					
Egg Take Goal						
Estimated Transf	fer Data					
Shipped or Received	Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	10/2025	6,000	20.0	300	JUVENILE	PEND OREILLE CO LAKES		
10/2025	10/2025	40,000	20.0	2,000	JUVENILE	SPOKANE CO LAKES		
10/2025	10/2025	10,000	20.0	500	JUVENILE	STEVENS CO LAKES		

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Brown Trout	C T-l-		
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping	51,600	1,895
Brood Origin:	HATCHERY	Received	425,000	0
Integrated/Segregated:		Planted	290,000	24,100

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	FORD HATCHERY	425,000		0	EGGS EYED
Shipped	05/2026	05/2026	COLUMBIA BASIN HATCHERY	25,000	100.0	250	JUVENILE
Shipped	10/2026	10/2026	WAITTS LK NET PENS	24,500	20.0	1,225	JUVENILE
Shipped	04/2027	04/2027	FORD HATCHERY	2,100	5.0	420	JUVENILE

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025	Γ		Total #	Total Pounds
Species:	Brown Trout	_	Faa Taka		
Run:	NA		Egg Take		
Stock:	FORD STOCK		Shipping	51,600	1,895
Brood Origin:	HATCHERY		Received	425,000	0
Integrated/Segregated			Planted	290,000	24,100

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2026	10/2026	186,000	20.0	9,300	JUVENILE	SPOKANE CO LAKES		
10/2026	10/2026	5,000	20.0	250	JUVENILE	STEVENS CO LAKES		
10/2026	10/2026	35,000	20.0	1,750	JUVENILE	WHITMAN CO LAKES		
03/2027	04/2027	1,000	5.0	200	JUVENILE	LINCOLN CO LAKES		
03/2027	04/2027	14,000	5.0	2,800	JUVENILE	PEND OREILLE CO LAKES		
03/2027	04/2027	24,000	5.0	4,800	JUVENILE	SPOKANE CO LAKES		
03/2027	04/2027	10,000	5.0	2,000	JUVENILE	STEVENS CO LAKES		
03/2027	04/2027	15,000	5.0	3,000	JUVENILE	WHITMAN CO LAKES		

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Eastern Brook Trout	Fee Teles		
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping	17,100	778
Brood Origin:	HATCHERY	Received	85,000	0
Integrated/Segregated:	SEGREGATED	Planted	42,000	420

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or	Received	Start Date	End Date	Facilit	y		Number	FPP	Total Pounds	Life St	age
Received		12/2025	12/2025	FORE	HATCHERY		85,000		0	EGGS	EYED
Shipped		06/2026	06/2026	FORE	HATCHERY		2,100	75.0	28	JUVE	NILE
Shipped		10/2026	10/2026	DEER	LK NET PENS		15,000	20.0	750	JUVE	NILE
Estimated	Estimated Release Data										
Start Date	End Date	e Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре	Tagged
05/2026	05/2026	20	0,000	100.0	200	JUVENILE	SPOKANE CO LAKE	ES			
06/2026	06/2026	3	3,500	100.0	35	JUVENILE	FERRY CO LAKES				
06/2026	06/2026	12	2,000	100.0	120	JUVENILE	PEND OREILLE CO	LAKES			
06/2026	06/2026	(6,500	100.0	65	JUVENILE	STEVENS CO LAKE	S			

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Eastern Brook Trout			Total Total
Run:	NA	Egg Take		
Stock:	IDAHO- GENERAL STOCK	Shipping	14,000	130
Brood Origin:	HATCHERY	Received	100,000	0
Integrated/Segregated:	SEGREGATED	Planted	16,000	941

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or	Received	Start Date	End Date	Facilit	y		Number	FPP	Total Pounds	Life St	age
Received		11/2025	11/2025	IDAH	O -FISH & GAME		100,000		0	EGGS	EYED
Shipped		02/2026	02/2026	USK I	FISH HATCHERY		12,000	1,000.0	12	JUVE	NILE
Shipped		08/2026	08/2026	CARS	ON NFH		2,000	17.0	118	JUVE	NILE
Estimated	Release	<u>Data</u>									
Start Date	End Date	Num R	elease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged
08/2026	08/2026	1	6,000	17.0	941	JUVENILE	MILL CR (PEND)		AD		

Memo: Program implementation is dependent on legal authority and funding. YY Eastern Brook Trout.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: Species:	2025 Rainbow		[Total #	Total Pounds
Run:	NA			Egg Take		
Stock:	TROUT LODGE			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregat	ted:			Planted	50,000	10,000
Estimated Brood	<u>Data</u>					
Estimated Transf	fer Data					
Shipped or Received	Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
06/2026	06/2026	50,000	5.0	10,000	JUVENILE	SPOKANE CO LAKES	AD	

Memo: Program implementation is dependent on legal authority and funding. AVISTA mitigation.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fag Tako	6,200,000	
Run:	NA	Egg Take	0,200,000	
Stock:	SPOKANE HATCHERY	Shipping	3,463,350	5,450
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	855,000	70,451

Estimated Brood Data

Egg Take Goal 6,200,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2025	12/2025	BOWDISH JHS (SPOKANE	100		0	EGGS EYED
Shipped	12/2025	12/2025	CHELAN HATCHERY	655,000		0	EGGS EYED
Shipped	12/2025	12/2025	CHELAN PUD HATCHERY	100,000		0	EGGS EYED
Shipped	12/2025	12/2025	COLVILLE HS(COLVILLE	35,000		0	EGGS EYED
Shipped	12/2025	12/2025	EAST VALLEY MS(SPOKA	250		0	EGGS EYED
Shipped	12/2025	12/2025	FORD HATCHERY	1,550,000		0	EGGS EYED
Shipped	12/2025	12/2025	FORT COLVILLE ES	500		0	EGGS EYED
Shipped	12/2025	12/2025	LIBERTY LAUNCH ACADEMY (SPOK)	250		0	EGGS EYED
Shipped	12/2025	12/2025	LINCOLN MS(PULLMAN)	250		0	EGGS EYED
Shipped	12/2025	12/2025	LYONS FERRY HATCHERY	195,000		0	EGGS EYED
Shipped	12/2025	12/2025	MESEBERG HATCHERY	115,000		0	EGGS EYED

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025					Total #	Total Pounds
Species: Run:	Rainbo [,] NA	W			Egg Take	6,200,000	
Stock:		NE HATCHERY			Shipping	3,463,350	5,450
Brood Origin:	HATCHERY						
Integrated/Segregat	ed:				Planted	855,000	70,451
Shipped	12/2025	12/2025	ORCHARD CENTER ES(SP	150		0	EGGS EYED
Shipped	12/2025	12/2025	ORIENT SD 065(ORIENT	250		0	EGGS EYED
Shipped	12/2025	12/2025	ROCK LAKE CONSERVATION DISTRICT	1,250		0	EGGS EYED
Shipped	12/2025	12/2025	STACEY SELCHO COOP	4,100		0	EGGS EYED
Shipped	12/2025	01/2026	TUCANNON HATCHERY	130,000		0	EGGS EYED
Shipped	01/2026	01/2026	COLUMBIA BASIN HATCHERY	450,000		0	EGGS EYED
Shipped	01/2026	01/2026	OMAK HATCHERY	66,000		0	EGGS EYED
Shipped	01/2026	01/2026	SUMMIT VALLEY SD(ADD	250		0	EGGS EYED
Shipped	05/2026	05/2026	CURLEW LK NET PEN	85,000	50.0	1,700	JUVENILE
Shipped	10/2026	10/2026	DEER LK NET PENS	45,000	20.0	2,250	JUVENILE
Shipped	10/2026	10/2026	WAITTS LK NET PENS	30,000	20.0	1,500	JUVENILE

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Faa Taka		
Run:	NA	Egg Take	6,200,000	
Stock:	SPOKANE HATCHERY	Shipping	3,463,350	5,450
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	855,000	70,451

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	300,000	100.0	3,000	JUVENILE	LINCOLN CO LAKES		
05/2026	05/2026	165,000	100.0	1,650	JUVENILE	SPOKANE CO LAKES		
05/2026	05/2026	100,000	100.0	1,000	JUVENILE	WHITMAN CO LAKES		
10/2026	10/2026	10,000	10.0	1,000	JUVENILE	PEND OREILLE CO LAKES		
10/2026	10/2026	59,000	10.0	5,900	JUVENILE	SPOKANE CO LAKES		
10/2026	10/2026	20,000	10.0	2,000	JUVENILE	WHITMAN CO LAKES		
10/2026	10/2026	20,000	20.0	1,000	JUVENILE	WHITMAN CO LAKES		
10/2026	11/2026	40,000	10.0	4,000	JUVENILE	FERRY CO LAKES		
10/2026	11/2026	66,000	20.0	3,300	JUVENILE	FERRY CO LAKES		
03/2027	04/2027	52,000	2.5	20,800	JUVENILE	SPOKANE CO LAKES		
03/2027	04/2027	17,000	2.5	6,800	JUVENILE	STEVENS CO LAKES		
03/2029	03/2029	1,500	0.3	5,000	BROODSTOCK	LINCOLN CO LAKES		
03/2029	03/2029	500	0.3	1,667	BROODSTOCK	PEND OREILLE CO LAKES		
03/2029	03/2029	2,000	0.3	6,667	BROODSTOCK	SPOKANE CO LAKES		

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year	r:	2025					Total #	Total Pounds
Species:		Rainbow				E Talua		
Run:		NA				Egg Take	6,200,000	
Stock:		SPOKANE HATCHERY				Shipping	3,463,350	5,450
Brood Orig	in:	HATCHERY				Received		
Integrated	/Segregated:					Planted	855,000	70,451
03/2029	03/2029	2,000	0.3	6,667	BROODSTOCK STEVENS	CO LAKES		

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Tiger Trout	Egg Take		
Run:	NA			
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	65,000	867
Integrated/Segregated:		Planted	56,000	2,800

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2026	06/2026	FORD HATCHERY	65,000	75.0	867	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2026	10/2026	6,000	20.0	300	JUVENILE	PEND OREILLE CO LAKES		
10/2026	10/2026	40,000	20.0	2,000	JUVENILE	SPOKANE CO LAKES		
10/2026	10/2026	10,000	20.0	500	JUVENILE	STEVENS CO LAKES		

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2026		Total #	Total Pounds
Species:	Rainbow	Faa Taka		
Run:	NA	Egg Take		
Stock:	TROUT LODGE	Shipping		
Brood Origin:	HATCHERY	Received	60,000	0
Integrated/Segregated:		Planted	50,000	10,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2026	06/2026	TROUT LODGE COMMERCIAL	60,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
06/2027	06/2027	50,000	5.0	10,000	JUVENILE	SPOKANE CO LAKES	AD	

Memo: Program implementation is dependent on legal authority and funding. AVISTA mitigation.

SPOKANE TRIBAL HATCHERY

SPOKANE TRIBE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Cas Taka		
Run:	NA	Egg Take		
Stock:	TROUT LODGE	Shipping	450,000	30,000
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2025	10/2025	LK ROOSEVELT NP (COL	450,000	15.0	30,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo:

Thursday, May 8, 2025

SPOKANE TRIBAL HATCHERY

SPOKANE TRIBE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fee Tele		
Run:	NA	Egg Take		
Stock:	TROUT LODGE	Shipping	450,000	30,000
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	40,000	40,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2026	10/2026	LK ROOSEVELT NP (COL	450,000	15.0	30,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
06/2026	06/2026	40,000	1.0	40,000	JUVENILE	SPOKANE R 54.0002		

Memo:

Thursday, May 8, 2025

STACEY SELCHO COOP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fag Taka		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	4,300	0
Integrated/Segregated:		Planted	3,550	14

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	4,300		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	1,450	250.0	6	JUVENILE	BEAR LK (SPOK)		
04/2026	04/2026	75	250.0	0	JUVENILE	CLEAR LK (SPOK)		
04/2026	04/2026	75	250.0	0	JUVENILE	COFFEEPOT LK (LINC)		
04/2026	04/2026	925	250.0	4	JUVENILE	LIBERTY LK (SPOK) (57)		
04/2026	04/2026	1,025	250.0	4	JUVENILE	MEDICAL LK (SPOK)		

Memo: Program implementation is dependent on legal authority and funding. Releases grouped by site.

SUMMIT VALLEY SD(ADD

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fee Talu		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	250	0
Integrated/Segregated:	SEGREGATED	Planted	250	1

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	01/2026	SPOKANE HATCHERY	250		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	250	500.0	1	JUVENILE	ROCKY LK (STEV)		

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Estimated Brood Da Egg Take Goal	<u>ta</u>				
Integrated/Segregated		PL	anted	50,000	20,000
Brood Origin:	HATCHERY	Re	eceived		
Stock:	SPRING CR-GOLDENDALE	Sh	nipping		
Run:	NA	Eg	gg Take		
Brood Year: Species:	2024 Rainbow			Total #	Total Pounds

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2026	05/2026	38,000	2.5	15,200	JUVENILE	KING CO LAKES		
03/2026	05/2026	12,000	2.5	4,800	JUVENILE	SNOHOMISH CO LAKES		

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2025		Total #	Total Pounds
Species:	Golden Trout	Can Taka		
Run:	NA	Egg Take		
Stock:	WYOMING FISH & GAME	Shipping		
Brood Origin:	HATCHERY	Received	8,000	0
Integrated/Segregated:		Planted	7,000	14

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	07/2025	08/2025	WYOMING FISH & GAME	8,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
09/2025	09/2026	7,000	500.0	14	JUVENILE	REG 4 LAKES		

Memo: Program implementation is dependent on legal authority and funding. Eggs and fry to be reared on pathogen-free water.

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Egg Tako		
Run:	NA	Egg Take		
Stock:	TROUT LODGE	Shipping	2,000	2
Brood Origin:	HATCHERY	Received	7,500	0
Integrated/Segregated:		Planted	5,500	11

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2026	04/2026	TROUT LODGE COMMERCIAL	7,500		0	EGGS EYED
Shipped	06/2026	06/2026	ARLINGTON HATCHERY	2,000	1,000.0	2	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
07/2026	08/2026	2,500	500.0	5	JUVENILE	REG 4 LAKES		
07/2026	08/2026	3,000	500.0	6	JUVENILE	REG 6 LAKES		

Memo: Program implementation is dependent on legal authority and funding. These are for high lake plants only and does not include other Trout Lodge fish purchased by WDFW. Planted by volunteers. Eggs and fry to be reared on pathogen-free water.

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Shipped or Received	Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage
Estimated Transfer	r Data					
Egg Take Goal						
Estimated Brood D	<u>ata</u>					
Integrated/Segregated	1:			Planted	14,000	28
Brood Origin:	HATCHERY			Received		
Stock:	CALIF-MT WHITNEY			Shipping		
Run:	NA			Egg Take		
Species:	Rainbow				Total #	Total Pounds
Brood Year:	2025					

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
07/2025	10/2025	2,000	500.0	4	JUVENILE	REG 2 LAKES		
07/2025	10/2025	2,500	500.0	5	JUVENILE	REG 3 LAKES		
07/2025	10/2025	8,000	500.0	16	JUVENILE	REG 4 LAKES		
07/2025	10/2025	1,500	500.0	3	JUVENILE	REG 5 LAKES		

Memo: Program implementation is dependent on legal authority and funding. High lake plants. Eggs and fry to be reared on pathogen-free water.

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fee Talua		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping	18,000	72
Brood Origin:	HATCHERY	Received	100,000	0
Integrated/Segregated:		Planted	66,300	38,150

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date		End Date	Facility Numb		FPP Total Pounds		Life Stage	
Received	12/2025	12/2025	GOLDENDALE HATCHERY	100,000		0	EGGS EYED	
Shipped	05/2026	05/2026	ISSAQUAH HATCHERY	18,000	250.0	72	JUVENILE	

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2027	05/2027	53,000	2.0	26,500	JUVENILE	KING CO LAKES		
03/2027	05/2027	10,800	2.0	5,400	JUVENILE	SNOHOMISH CO LAKES		
10/2027	10/2027	1,500	0.4	3,750	JUVENILE	KING CO LAKES		
10/2027	10/2027	1,000	0.4	2,500	JUVENILE	SNOHOMISH CO LAKES		

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2026		Total #	Total Pounds
Species:	Rainbow	Egg Take		
Run:	NA	Lgg Take		
Stock:	CALIF-MT WHITNEY	Shipping		
Brood Origin:	HATCHERY	Received	15,000	0
Integrated/Segregated:		Planted	14,000	28

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Shipped or Received Start Date End Date		Facility	Number			Life Stage	
Received	02/2026	02/2026	EELLS SPRINGS	15,000		0	EGGS EYED	

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
07/2026	10/2026	2,000	500.0	4	JUVENILE	REG 2 LAKES		
07/2026	10/2026	2,500	500.0	5	JUVENILE	REG 3 LAKES		
07/2026	10/2026	8,000	500.0	16	JUVENILE	REG 4 LAKES		
07/2026	10/2026	1,500	500.0	3	JUVENILE	REG 5 LAKES		

Memo: Program implementation is dependent on legal authority and funding. High lake plants. Eggs and fry to be reared on pathogen-free water.

TUCANNON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: Species:	2024 Rainbow		Total #	Total Pounds
Run:	ΝΑ	Egg Tak	e	
Stock:	SPOKANE HATCHERY	Shippir	g	
Brood Origin:	HATCHERY	Receive	d	
Integrated/Segregat	ted:	Planted	93,358	37,343
Estimated Brood	Data		I	
Egg Take Goal				
Estimated Transf	fer Data			
Shipped or Received	Start Date End Date Facility	Number Fl	PP Total Pounds	s Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	06/2026	20,400	2.5	8,160	JUVENILE	ASOTIN CO LAKES		
04/2026	06/2026	40,460	2.5	16,184	JUVENILE	COLUMBIA CO LAKES		
04/2026	06/2026	6,800	2.5	2,720	JUVENILE	FRANKLIN CO LAKES		
04/2026	06/2026	19,380	2.5	7,752	JUVENILE	WALLA WALLA CO LAKES		
04/2026	06/2026	6,318	2.5	2,527	JUVENILE	WHITMAN CO LAKES		

TUCANNON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Faa Taka		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	1,850	0
Brood Origin:	HATCHERY	Received	130,000	0
Integrated/Segregated:		Planted	93,358	37,343

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or I	Received	Start Date	End Date	Facility	/		Number FPP	Total Pounds	Life St	age
Received		12/2025	01/2026	SPOK	ANE HATCHERY		130,000	0	EGGS	EYED
Shipped		01/2026	01/2026	ASOT	IN CONSERVATIO	ON DIST	1,600	0	EGGS	EYED
Shipped		01/2026	01/2026	LEON	ARD M JENNINGS	SE	250	0	EGGS	EYED
Estimated	Release	Data								
Start Date	End Date	e Num Re	lease	FPP	Total Pounds	Life Stage	Release Site	Mark	Туре	Tagged
04/2027	06/2027	20),400	2.5	8,160	JUVENILE	ASOTIN CO LAKES			
04/2027	06/2027	4(),460	2.5	16,184	JUVENILE	COLUMBIA CO LAKES			
04/2027	06/2027	(5,800	2.5	2,720	JUVENILE	FRANKLIN CO LAKES			
04/2027	06/2027	19	9,380	2.5	7,752	JUVENILE	WALLA WALLA CO LAKES			
04/2027	06/2027	(5,318	2.5	2,527	JUVENILE	WHITMAN CO LAKES			

UPPER SKAGIT HATCHERY

SKAGIT TRIBE

NORTH PUGET SOUND

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	E		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	1,200	600
Integrated/Segregated:	SEGREGATED	Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stag	е
Received	05/2026	05/2026	BAKER	LK HATCHERY		1,200	2.0	600	JUVENI	LE
Estimated Release	<u>Data</u>									
Start Date End Dat	e Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре	Tagged

Memo: For the Red Creek Hatchery, not to be planted, but used for kids fishing cultural event.

VANCOUVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2024	Total # Total Pounds
Species: Run:	Rainbow NA	Egg Take
Stock:	SPRING CR-GOLDENDALE	Shipping
Brood Origin:	HATCHERY	Received
Integrated/Segregate	ed:	Planted 65,000 32,500
Estimated Brood	Data	
Egg Take Goal		
Estimated Transfe	er Data	
Shipped or Received	Start Date End Date Facility	Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
12/2025	04/2026	62,500	2.0	31,250	JUVENILE	CLARK CO LAKES		
12/2025	04/2026	2,500	2.0	1,250	JUVENILE	SKAMANIA CO LAKES		

VANCOUVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

SOUTHWEST WASHINGTON / LOWER COL

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Coo Toles		
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	70,000	0
Integrated/Segregated:		Planted	65,000	32,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	GOLDENDALE HATCHERY	70,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
12/2026	04/2027	62,500	2.0	31,250	JUVENILE	CLARK CO LAKES		
12/2026	04/2027	2,500	2.0	1,250	JUVENILE	SKAMANIA CO LAKES		

VIRGINIA GRAINGER ELEMENTARY SCHOOL

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	100	0
Integrated/Segregat	ed:	Planted	100	0
Estimated Drand	Dete			
Estimated Brood				

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	01/2026	OMAK HATCHERY	100		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	100	500.0	0	JUVENILE	CONCONULLY LK (OKAN)		

WAITTS LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Brown Trout	Egg Take		
Run:	NA			
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	24,500	1,225
Integrated/Segregated:		Planted	24,000	4,800

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	SPOKANE HATCHERY	24,500	20.0	1,225	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	24,000	5.0	4,800	JUVENILE	WAITTS LK (STEV)		

WAITTS LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Egg Take		
Run:	NA			
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	30,000	1,500
Integrated/Segregated:		Planted	29,500	5,900
		L		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	SPOKANE HATCHERY	30,000	20.0	1,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	29,500	5.0	5,900	JUVENILE	WAITTS LK (STEV)		

WAITTS LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Brown Trout	Egg Take		
Run:	NA			
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	24,500	1,225
Integrated/Segregated:		Planted	24,000	4,800

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2026	10/2026	SPOKANE HATCHERY	24,500	20.0	1,225	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	24,000	5.0	4,800	JUVENILE	WAITTS LK (STEV)		

WAITTS LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Species:RainbowEgg TakeEgg TakeRun:NASpokANE HATCHERYShippingEgg TakeStock:SPOKANE HATCHERYReceivedShipping1,500Brood Origin:HATCHERYReceivedS0,0001,500Integrated/Segregated:For the section of t	Brood Year:	2025		Total #	Total Pounds
Kun: NA Stock: SPOKANE HATCHERY Brood Origin: HATCHERY Received 30,000 1,500	Species:	Rainbow	Fag Tako		
Brood Origin:HATCHERYReceived30,0001,500	Run:	NA			
	Stock:	SPOKANE HATCHERY	Shipping		
Integrated/Segregated: Planted 29,500 5,900	Brood Origin:	HATCHERY	Received	30,000	1,500
	Integrated/Segregated:		Planted	29,500	5,900

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2026	10/2026	SPOKANE HATCHERY	30,000	20.0	1,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	29,500	5.0	5,900	JUVENILE	WAITTS LK (STEV)		

WELLS HATCHERY

DOUGLAS COUNTY PUD

NORTH CENTRAL WASHINGTON

Brood Year:	2024			Total #	Total Pounds
Species:	Rainbow		Egg Take		
Run:	NA				
Stock:	RIVERENCE HATCHERY (THUR)		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregated:	SEGREGATED		Planted	20,000	20,000
Estimated Brood Data	1			/	
Egg Take Goal					
Estimated Transfer D	ata				
Shipped or Received Sta	rt Date End Date Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	20,000	1.0	20,000	JUVENILE	OKANOGAN CO LAKES		

WELLS HATCHERY

DOUGLAS COUNTY PUD

NORTH CENTRAL WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fee Teles		
Run:	NA	Egg Take		
Stock:	RIVERENCE HATCHERY (THUR)	Shipping		
Brood Origin:	HATCHERY	Received	25,000	0
Integrated/Segregated:	SEGREGATED	Planted	20,000	20,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received Start Date End Date		Facility	Number	FPP	Total Pounds	Life Stage	
Received	05/2026	05/2026	RIVERENCE HATCHERY (THUR)	25,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	20,000	1.0	20,000	JUVENILE	OKANOGAN CO LAKES		

WEST VALLEY HS(SPOKA

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Eastern Brook Trout			
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	500	0
Integrated/Segregated:		Planted	475	6

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	FORD HATCHERY	500		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
06/2026	06/2026	475	75.0	6	JUVENILE	NEWMAN LK (SPOK)		

WEST VALLEY HS(SPOKA

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Tiger Trout			
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	500	0
Integrated/Segregate	:d:	Planted	475	5

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2025	11/2025	FORD HATCHERY	500		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	475	100.0	5	JUVENILE	FISH LK (SPOK)		

WHITEHORSE POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	106,000	48,400
Estimated Brood Data	<u>a</u>			
Egg Take Goal				

Shipped or Received Start Date End Date Facility Number FPP Total Pounds Life Stage	
---	--

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2026	03/2026	9,500	2.5	3,800	JUVENILE	ISLAND CO LAKES		
03/2026	03/2026	10,000	2.5	4,000	JUVENILE	KING CO LAKES		
03/2026	03/2026	48,000	2.5	19,200	JUVENILE	SKAGIT CO LAKES		
03/2026	03/2026	28,500	2.5	11,400	JUVENILE	SNOHOMISH CO LAKES		
11/2026	11/2026	5,000	1.0	5,000	JUVENILE	KING CO LAKES		
11/2026	11/2026	5,000	1.0	5,000	JUVENILE	SNOHOMISH CO LAKES		
Mama: Dr	aram implan	ontation is donanda		harity and funding				

WHITEHORSE POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	I		Total Totaldo
Run:	NA	Egg Take		
Stock:	SPRING CR-GOLDENDALE	Shipping		
Brood Origin:	HATCHERY	Received	104,000	2,600
Integrated/Segregated:	SEGREGATED	Planted	97,000	54,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	07/2026	07/2026	ARLINGTON HATCHERY	104,000	40.0	2,600	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2027	03/2027	8,500	2.0	4,250	JUVENILE	ISLAND CO LAKES		
03/2027	03/2027	9,000	2.0	4,500	JUVENILE	KING CO LAKES		
03/2027	03/2027	43,000	2.0	21,500	JUVENILE	SKAGIT CO LAKES		
03/2027	03/2027	25,500	2.0	12,750	JUVENILE	SNOHOMISH CO LAKES		
11/2027	11/2027	5,000	1.0	5,000	JUVENILE	KING CO LAKES		
11/2027	11/2027	6,000	1.0	6,000	JUVENILE	SNOHOMISH CO LAKES		
		antation is donousla.		معانه معالي معالي				

WILBUR SD 200(WILBUR

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	200	0
Integrated/Segregat	ed:	Planted	200	1
Estimated Drand	Data			
Estimated Brood	Data			

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	FORD HATCHERY	200		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	200	250.0	1	JUVENILE	ROOSEVELT LK (OKAN)	AD	

Memo: Program implementation is dependent on legal authority and funding. Fish will be AD clipped by the Spokane Tribe prior to release.